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ASSOCIATESHIP EXAMINATION
INFORMATION TECHNOLOGY

T 36 | [T 37 : 100
Time: 3 Hours] ‘ [Total Marks : 100
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. She s gan g fa st & Cwe U Rrew” @t faEE 16
e .

1. Describe the Front Office Systems of a Life Insurance or General Insurance 16
Company.

2. “frdt dEm @ g aEed § uRafid 6 @ el yas 3% @i 12
I8 HITT Tywerd | uRafld HE S gl @ W 398 AYH
TR T8 R 27| IS 3% 569 H AF Hig W 31
YU A AT I F g SIS I FHET B |

2. "Binary Coded Decimal (B C D) is conversion of each decimal digit (in a 12
decimal number) into a binary code. This is simpler than converting the whole :
decimal number into binary form. But B C D occupies more space in the
computer." Discuss this with respect to Decimal number 569 by actually working
out the B CD and finding the equivalent Binary number.

3. TR Wl SAWM & Tay 9 frEfafad @ e # 12
3) R A= E
9) 3 YR
¥) BIA VKR
YRR
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In the context of a Data flow Diagram, what is : 12

1)  External Entity
i) Dataflow

i) Data store

iv) Process.

ERICET
) AR
i) A

i) e feoat gfe
v) 3R & F. W™

v) . & H
vi) wiieX

vi) W

vit)) HAHEAST

ix) emiHEX

x) A . "isd
xi) & T T g
xil) BT

Match the following :

i)  FlowChart
i) LAN

i) Visual Display Unit
ivy RDBMS

v)  DTP

vi) Plotter

vi) RAM

viii) Calculator
ix) Thermometer
x) NB Module
xi) VLSI

xii) Data

(7S HT 1 3%)
Feafdhn
TH o Ut
TEsfieer Hrex
% UE 3wl
Rl
A, & At 5w A
3rerg M

AT FHEH
aft g ¥ e e

e s (ufsersfim)

g

leach

Networking

SQL

Draws graphs, maps, charts and pictures
Digital computer

Front End Application

Information

TV like display screen

Temporary memory

Analog computer

Integrated Circuits in large numbers
Publish a Book

Symbols
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Write short notes on ;

a)
b)
c)

Software testing
User training

ASCII Code

T S S 9 g SRRy 93§ # STAfar S W S|

Explain the utility of an Office Automation Package in an insurance company.

) XMEE WA 1334 3 3T STWET FHET I ST
q) | % FEwHE FH 3T HE gL 01110011 H 10101010 § w=EA|
§) frfale sl Sl & avmed gaqed § uRkardd Hisig

a)
b)
c)

) 11000011 &) 10111101

Find the hexadecimal equivalent of decimal number 1334

Subtract 01110011 from 10101010 using one's complement.

Convert the below mentioned binary numbers to its decimal equivalent.
D 11000011 ) 10111101

) = & e -

) RN Rr=ew F g oFF FEl Hl TH WY HA H <&l

i) oreet R & Fed yga deHiet

iify T STRIET ey / e Jemar T Tfig TR R
et fdepiftes Wi fahar ST 81

iv) STt adr qefta e & <t it

v) 98 iha fomd UReey @ U 91y e f35ar S 2 |

vi) 3. €. ot W T, § yge gie At (e (FE8) W

9) IS G 455 1 AT GATed JId HioiT |
§) fg sieh a9 T 82

(T0F & 4 3()

4 each

12

12
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a) Identify the following :
) Ability of the operating system to perform various tasks simultaneously.
i) Technology used in 5th generation computers.
i) A popular operating system widely used and similar to the Unix

operating System.

iv) 'This language lies between the High Level language and Machine
Language.

v)  The process by which attributes are grouped together to form a well-
structured relation

vi) Query Language used in a Relational detabase Management System.
b) Find the octal equivalent of decimal number 455
¢) WhatisRead Only Memory?

YeH H WG o A XYZ 7 T wfaartt wlen F1 e )
HIRTIhI 1 T 2 &% Jeameht st e = 3%y g @Ry |
Ut § <A 50%

=T 9 B = 50% 3]

Tford § off =Aad 50%

IWia i+t vl & grars! &1 Frwe 180 (60%) BT IMRT ) SR |
B I R A WA (AW, SIS a1 ITih) A & T0H
g Sl WRIR & o S 7 81 U9 g St e e o 2
FATEIE dAR HSAT

Company XYZ is conducting a Competitive Test in its recruitment drive for the
post of Executives. To be eligible for the interview a candidate has to secure
the below mentioned marks in the tests.

Minimum 50% in English

Minimum 50% in General Knowledge and

Minimum 50% in Mathematics.

The aggregate marks of the above three subjects should be atleast 180 (60%).
Initially the Company is interested to know the number of candidates (with

their names, roll numbers and marks scored) who are not eligible for the -

interview. Prepare a flow chart to print the list of such candidates.

6

12

12
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3) Tiehet URAT Aead § W € ool FEs e B v

9)

a)

b)

ikt TRAT ATTh H A H U B

Mention some relevant applications which canbe used inalocal Area 6 each
Network.
List out the drawbacks of Local Area Networks.
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ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE UNDERWRITING

g 3ue ] [ 3 : 100
Time: 3 Hours) | [Total Marks : 100
Rl 218 Uvel o S TNT | g U % 16 31k ¥ TR g atfrard i 7
AT AN TRAHYTT 12 AF H T |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

. frerare o e Rl R (Ao
37) M-SIREH 3The 1 UH »
¥) i Irfafed sfaw
¥) felsfrerey fam
3) wmEd fm w eI
1. Write short notes on :- ' 4 each

a) © Age as an underwriting factor.

b) Constant extrarisks

¢) Lindquist'sRule

d) Theneed for partnership insurance.

2. &) W FfHRgs a5, R of 7HR @ 99T TR B FA T B - WL 6

I
@) et o gege Ao | afia a3 faee - (TRF & 2 )
i) qu ' 3 ﬁ) Ipx' iii) lexl
2. a) Thenon-medical selection does not in any way lower the standard of 6
selection. - Elaborate.
b) Explain briefly the following functions shown by mortality tables 2 each
i) qu ' ﬁ) Ipxl iii) 'exl :
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R i ford - (Ye% o 4 3()
37 wifear fafg

) uEhEE | j

@) Sfaw diur Sifan e § wRaRS fawor # wed|

Write short notes on :- 4 each

a) Cataract

b) Emphysema

©) Significance of family history in life assurance underwriting.

%) Tafsfeaa sifalaq ammrm: #f T& ger of §a? 99 & o™ 4
H TE FRTY

) = =1 forqga wv fafay - (FAFH 1 37%H)°
) . . =
i) §. . s
i) 2eft (.3 W §)
iv) . ff. .
T 3 o AR I=7 TR B W SRR GiRe wieredt @ 4
ST et 87 HROT JaTga?

a)  Explain why the medical extras in general are not removable? 4

b) Expand the following abbreviations 1 each
) CBC i) ECG ii Tele ivv FBS

c)  State the reasons whether we can give policy with lien in case of overweight 4
orhigher B.P. :

: W?@WWWWﬁWWW? 12

%) &N Staq ;g 34 Td

q) a9 : Tavafame™ R

T) AN A e ;27 aﬂﬁmﬁ?@aﬁ‘wﬁaﬁm

) yERmAm e %.6,00,000

) qd w1 9, 25 a9 ofEfy aiawh s



3
B) WRARS famw  : ww a8 q& 54 a9 F g § fUar # g2
T 8§ 4w, 60 aftfa am o1es w@ee wita
Sftdia 21
S) SAfera ffa : 1) 45% 3% I99 EMR +45
i) T (139/89)
ii) AT - efE # fake gfe T,
T3] I 7 (-) 6.
¥) AfwmE aRor ;. gEfed Sftae & el 48 1 dtg S e
T & T 59 9 quld: ey 2
7€ TR HI RGH THe 3 59 AR JIFE H1 Arervahe 2,
i 59 Tae W AR 5 5 wah | Ak W) STavashard T S
FREWIoR e 9= § @ o1aer finis Aol &)

The following information is available from the proposal and the medical report
submitted for Life Insurance.

a) MaleLife :  Age34years )

b) Occupation :  Lecturerincollege

c¢) Plan& Term :  Endowment Assurance with term 27 years

d) Sum proposed : Rs.6Lacs.

e¢) Annual Income : Rs.4Lacs.

f) PreviousInsurance : Rs.1Lacunder Endowment Assurance with
term 25 years.

@  Family History :  One year back father died of Coronary Attack

‘ at age 54 years. Mother living at age 60 years,

health good.

h) PersonalCondition : 1 Overweight45% EMR +45

ii) B.P.reading 139/89
i) Myopia - Power of glasses in each eye
minus 6. '
D  Personal History : The life proposed had an acute attack of
Laryngititis. He is Completely cured.

Mention what additional information and requirements are necessary to consider
the proposal and give your underwriting decision if requirements are in order
- and found normal.

AL -22
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(T & 3 3ih)
STYHIR T Y-9R & gEanad =i & faeor 9 3 . §, 9k
I8 HHT ST % 311 oot SRk o 2, Siftaw 3o Sisfie| G988y 4§
T HIOT Bt M R Taw TeT-9R FI &7 AWl A Siiaw e d

TG
%) qE9 St ;e - 27 3

@MY - 33 o

@) wt St ;e - 26
YT & # SEEn

) qE9 Sfed ;e - 33 99

u) i Sfed : ey -45 o
3afy - 25 a8

AT &7 ot

31 IR - EMR +40
ST - AT SRIEwI B
SCUYR - EMR +25
AT - TR
3R - EMR +65
A - quf S
foemera § erenfuent
3f%F AR - EMR +20

Given below are case studies of overweight and underweight proposers. 3 each
State how an underwriter should deal with these cases assuming all other aspects
to be normal. Explain briefly the significance of overweight and underweight in

underwriting these cases.

a) Malelife Age - 27years
Term - 33 yrs.

b) FemaleLife: Age - 26years
Working as an accountant
in private firm

c¢) Malelife Age - 33years

d) FemaleLife: Age - 45years

Term - 25 yrs.
= W dfgra Ruft fafew -
)  EEie Em

ii) TS I &Y & oy

Plan - Money Back
Overweight - EMR +40
Plan - Double Cover
Endowment

Underweight - EMR +25
Plan - Endowment
Underweight - EMR +65
Plan - Whole Life

Working as a school teacher
Overweight - EMR +20

(I8 S 3 ()

i) WS A ITASF Sfta
iv) gH A ke
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Write short notes on the following :- ' 3each
a) Occupational Hazards

b) Standard and substandard lives

¢) Advantages of Numerical Rating Method

d) Removable Extras.

%) St e & SRGH ke &t falE SR & auia 1 (T% & 6 3(F)
@) sl g0 &t shem W F df % e T 82

a) Whatis the underwriting process for different categories of female lives? 6 each
b) Whatarethe restrictions imposed on female lives by the insurers?

mmmwmmmﬂwmév (mmﬁ)'

%) A T) m3an

) SHaE ) SUEERY WY

What is the underwriting significance in respect of the following impairments? 3 each
a) Bhronctictis b) Arteriosclerosis

¢) Rheumatism . d) Orchitis

%) T wAE Wit & 7w 3§ 92w & ot 3 St St 3 fore e 29 87 6

T) frfafad TR G & 3fiem o i vxE & e S8
o T 87 (S 1 RoRuT 3 STrvE T 2) (w2 ¥)
) T :
i) I MY
i) TS WY

a)  What are the factors which determme the eligibility of a diabetic person to 6
take life assurance? '
b) How proposals with the following history of impairments will be dealt 2 each
with? (Description of diseases not required)
i  Dyspepsia
i) Hepatitis
i) Appendicitis.
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ASSOCIATESHIP EXAMINATION
APPLICATION OF LIFE ASSURANCE

g 3Ee ] _ | . [@® 3 100
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All cther questions carry 12 marks each.

Marks
1. frefofed 8 @ faedt a W g Rttt &l - (JAS & 4 31F)
%) oFHd &/
) wq&aﬁwm&mmaﬁwmﬂ
M) S
¥) i e
¥) WYE IR S Ared

1. Write short notes on any four :- ‘ 4 each
a) ExperienceRating
b) "Free look provision" or Cooling-off period.
¢) Nomination
d) Direct Marketing
e) Group Creditor Insurance Schemes.

2 “uE SRR R H A @ U s ged @ fwfor W & S 12
mmﬁwmﬂwmwwﬁ”umaﬁaﬁ
-wmﬁmmﬂmﬁwmmgmm
W FHSfiw)

2. "Earning Power of an individual alone does not create an economic value that 12
can logically serve as the basis of Life Insurance”. Tllustrate the above statement
giving various techniques developed to estlmate the above Value accurately.




L))

a)
b)

%)
Q)

a)
b)

a)
b)

2 AL -23
(I% & 6 37%)
WW&W]SU%WW%WWE&
faaam Fifm)
‘- dfer s Ry yeR @t 9 81 98 | ol wi)

State essential elements of Contract as per Indian Contract Act, 1872. 6 each
'Insurance Contract' is a specialised Contract - Discuss briefly.

. | (TH FH 6 37F)
SusTaRT YT AT 1986 & AT (T18) % T HRT 37

mﬁwg{mmﬁw & gia gy ot Awae # gl a7
AETTF 87

What are the reasons for inactment of Consumer Protection Act, 1986? 6 each
Why it is necessary to appoint Insurance Ombudsman, when Consumer
Protection Act is already there?

T Ao svar ‘wrater s @ 27
Tael WiHEH & TS T d AT S gU W Siefiel

What is 'Gross Premium'’ or 'Office Premium'? 3
Enumerate Elements of 'Gross Premium' and explain each of them. 9
foreliere % Surar AT & ThY @ e WY - (FEF F 6 31F)
fAftEee (Afm yaym) & F oravas 87

Explain the nature of Gratuity Liability of employer. 6 each
Why is it necessary to make funding (Advanced Provision)?

S T A H FEET F NS 1 uRebew 47 Raw 3

A T AT AT T (I T GEEE i IeetE 9
Eicin
What is the idea behind introduction of Salary Saving Scheme? 3

Discuss administration and administrative problems of Salary Saving 9
Scheme. a



10.

10.

%)
q)

a)
b)

%)
Q)

a)
b)

%)

Q)

a)
b)

3 | AL -23

Tedt g @ s el W Seid et 8
Tt oTRg @ el weree B far R fRn ST W 27 4
Explain economic problems of aging. 8
How to overcome economic problem of aging? 4
QAT @ e B 3
el =) fafte wefaal e W 9
Define 'Re-insurance'. : 3
Discuss various methods of Re-insurance. 9
wezredl & fie T ) (9 % 6 37)

forgrar ARt WX Forae ot wemel & faor 3 sifufem @t
feraem T )
Explain role of the intermediaries. 6 each

Briefly enumerate regulation on methods of selling and control of
intermediaries.
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ASSOCIATESHIP EXAMINATION ;
LEGAL ASPECTS OF LIFE ASSURANCE

AT : 3 He | N - ; [&eT 3k : 100 |

Time: 3 Hours] ‘ ‘ ‘ [Total Marks : 100

WWM%WWWWW#MW’%WWWW%I
et yRwR U 2w F e :

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questxons carry 12 marks each :

: Marks
1. ﬁmﬁ@aﬁ@%wmmwm;— (Wﬁ?ﬁﬂaﬁ)

F) STcHEeT

Q) Ydre

M) geftgdt gumr w
) W HefavaE
g) sfogfd = fygi=

1. Write short notes on any four of the following :- ' 4 each
a) Suicide
b) Arbitration
c) Probate of will
d) Utmost good faith
e) Principle of Indemnity.

2. %) dtaied w1 ¥ Iy 892
@) i wlew € g g vavas 1t 82 2
) Shea wfeRr it o sied dfe § 59 @ 39 Red e 9 y? 2
) ﬁmﬁf@amﬁmaﬁﬁqﬁwmﬁé 3 IR
) (e - e (S % 12 3i)
i) WHER 9 TE-UEER & sfted |
i) S, T8-S F SfeT | |
iv) STER/ATER & Sftad |



a)
b)
C)

d)

2 » AL-24

What is meant by insurable interest? ' 2

Why it is essential in insurance contract? 2

When it should exist in Life insurance contract and Non-life insurance "2
~ contract?

Explain the extent of insurable interest exist in followmg cases :- 1Vaeach

%)

q)

b)

s

‘1) Employer-employee.

i) Partner on the life of co-partner.

i)  Surety on thelife of co-surety.

iv) Creditor on the life of debtor.

Sitasiar wieaT & ‘st feqers’ | s o 27 sHeht v, 6
Temd 3R ferTa, afk WY & @ 3w Y
FRUT Wied A (% 1 5701 gefen ey e fefefad
LECIECE Y (Sl 3 2 37F)
) st O AR, A aﬁwﬁaﬁsﬁaﬁmaﬁnﬁaﬁm
uiferelt & gW uiferst o # frRre 3 Sror enege & o
i) f T TF TEw W v & i F AE @er o @ s W
fooreft A 9, 3wt g & T
i) o T TF FH TG 3R G § B H @ AT @ G F Fied
¥ 39F 7 & T

What is meant by 'Disability Benefit' under life insurance contract? What 6
are it's terms, conditions and exclusions if, any?
Explain with reasons whether double accident benefit claim under followmg
cases would be admissible. 2 each
)  Mr. R'anl. T. Engineer committed suicide due to frustration in 2nd

- policy year of insurance policy on his life.

) Mr.'S'ashephard while standing under Baniyan tree died due to fall

of lightening on tree.

| i) Mr. T' an agriculturist while workmg in his field died due to serpant

bite.

(TAF F 6 3F)
UTESH T AW 1986 % farta i wrlta weeor qfaen, 59

‘STferfereny %mm?wﬁaﬁé‘mﬁw%m@%
31t gwEemel & T ], uemEu



a)

b)

b)

3
‘giferelt ue e ST fafaaw 2002° R ‘eafy-wfs & wE Ta-
R =it IR foan 21 % FeR 31 27 SWiad Ry & siard
79 v | =1 yraum R W 39

The three tier redressal machinery provided under Consumer Protection
Act, 1986 after recent amendments made under the 'Act’ has made it
more effective, elucidate.

Protection of Policyholders interest Regulation, 2002' has introduced new
concept of ‘cooling of period’, what is this concept? What are the provisions
made in this respect under above regulations?

St tffaw 1938 #t ary 39 ® U wiferdtunes g A
& quf fafYy s TR g1 AT @ Hrem R g 5t
AR

AL -24

6 each

et ame 7 it @ fFeent e - (IAF & 2 3F)

) st T A Stawete uiRTE § oo ueht @ AWifEd R
Hfiaq | 36 feran & wiferdt & sfeia e S foeer o
&l fEar S| _

i) U Steweftar wiferedt 16.2.2010 i uRvad g8 | fiwr St spra=
T R R | uiferiRs # g 18.2.2010 i @ w1

i) ff R A U ifereht feranfea ot wwr sifdifEm % ol oft
off STt 18.4.2010 F oW % forw R & |

Section 39 of the Insurance Act, 1938, gives a complete code for
nomination By a policyholder. Explain the various provisions relating to
nomination. ,

Who will be entitled for insurance claim in the following cases :-

)  Mr 'A'nominated his wife for the life insurance policy. In the will he
had stated that the claim under the policy should be paid to his
widowed daughter.

i) Alife insurance policy matured on 16.2.2010. Insurance Company
failed to release the payment. The policyholder died on 18.2.2010.

i) Mr. Saxena had taken a policy under M. W. P. Act which matured
for payment on 18.4.2010.

2 each



%) .

Q)

a)

b)

a)
b)

4
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- (yAF & 6 3®)

aRedta wfeer sfufram 1872 & siaia ‘Wlaker ¥ 41 A 87
T TUT R &7 FAT T Wlowhet 1 AIE SEY HFEA o A1 ST
gebaT 87 4l &, @t fa eremdl § Ty 8 Hehan &7

3R AfYfET 1961 (S el & 3IaR) & 3faia R 1T
fercita icargat i Stemsitar & graifaa fafeie 8 f&afees
FA ¥ T TaRT T S FuiRd & o it e = 87

What is meant by 'consideration' under Indian Contract Act, 1872, what
are its attributes? Whether an agreement without consideration is
enforceable? If, so under which circumstances?

State financial incentives provided under Income Tax Act, 1961 (as per
latest amendments) for investment in life insurance and alike investments?
What is it's maximum limit for an individual assessee?

AfaE 3 Svafde S 3R FaRy

A | Shemetar wiferriat el oo fareiiea 87 g9 ot stfefa
1938 =t 9T 45 3 Sfmwia FH<h= yEuEl % dav § gaEEy

sft ‘St 3 Shemelar 3 fRIT wh g% 20.2.2008 H TR R
viferelt st 11.1.2008 #t el ariw / =] i mm St 3
28.2.2008 & W= it Wi FA &1 A forar) qqfaa wiferdt
T 10.3.2008 H S gan| fAfefq swEmert qwHan & AR W
ST o6 <ftmr srfufem 1938 it urr 45 & forw 2 o i ety
frw artie | et sma?

Bring out difference between Representation and Warranty.

How far life insurance policies are indisputable in India? Explain this with
reference to relevant provisions made under Section 45 of Insurance Act,
19387

Mr 'G' submitted proposal for life insurance on 20.2.2008, policy was
back dated w. e. f. 11.1.2008. Insurer took decision to accept proposal
on 28.2.2008. Formal policy bond was issued on 10.3.2008. State on
the basis of decided court case, 2yrs. period for the purpose of Section
45 of Insurance Act, 1938 is to be counted from which date?

6 each
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(I & 6 3h)
8. %) WHEEH M &7 wig awt st Wy Shawet % wer wn
R 27 Tl 3 Yo 31 g <t Fiwwel # Jeerg HiRT ;A
R ERT QG Yo # S 8
§) A% AR, AMifRd, srvdf
) I
i) AT
i) arferan

ﬁﬁaﬁmmﬁé@aﬁwwm?

8. a) Whatis group insurance? Bring out the difference between Group Life 6 each
Insurance and Ordinary Life Insurance. Name any 3 types of Group
Insurance Schemes generally offered by Insurance Company.

b) Ifclaimant, nominee/assignee is:

1  Minor
i)  Lumatic
ii) Insolvent

How insurance company will settle claim?

9. ®) i) oTwal qd Al § Ha TR
i) SREd T B R TEraH Wl 3 SR W T St stfdrmat
S SR H FHIET
@) Wwé?wmsﬁzmwﬁmwwmlw 6
werd v uifereht & it woyEEdo g @ T 8, At YA e

W W

M e THR?
9. a) 1 Distinguishbetween Agentand Servant. 3
i)  Explainrole of an Agent on the basis of maxim 'Qui Facit per alium 3
perse'.
b) Whatis assignment? Bring out difference between Absolute Assignment 6

- and Conditional Assignment? Whether conditional assignee can raise loan/
surrender value under policy. If so, how?



6

10. TRt =t W Efera feroaftre fofa:-
%) gifafees f&afy

Q) "alw AEed & SARER

M) e

¥) HARTHY TEEH

g) il

10.

Write short notes on any four :-

a)
b)
<)
d)
e)

Statute Law

Powers of Supreme Court
Valuation

Consensus Adidem
Garnishee.

AL -24
(9% & 3 37F)

3 each
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ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE MANAGEMENT

Og ;3 6e | [&e 3T @ 100
Time: 3 Hours] [Total Marks : 100
et TS Uoal & Sl ANT | 9o U9 & 16 M%Wwaﬁaﬁqﬁ% |
I AM URAH YT 12w H E |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
(T & 8 3F)
1. &) ‘FE-au & yE 2y 7 87 FEf-ae i A e
79 ST
T) ‘wrd-a’ ﬁmmmﬁﬁ%mmﬁmaﬁﬁ
TR 26T ST Wk 27

1. a) Whatarethe main objectives of "Work Measurement"? Discuss the various 8 each
techniques of work measurement.
b) How "Work Measurement" can be utilized in designing incentive scheme
for the employees?

2. FWHRT; (5 3 4 37%)
%) N EET SR AN BH HE
§) Tt SR FE e

) FRRR YT (T, §5Y) 3R UH. S, UH A6l H T

2. Distinguish between : 4 each
a) Cost Control and Cost Reduction ’ ‘
b) Job Simplification and Job Enrichment
¢) Security of Computers (HW) and Security of SW and Data.
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HROT AR TARY 3 frafefan e wear € momew ;. (WAwH2 39F)

%) Site dftar S, eftgi-gfe a8 2

@) - IRYF F GG ¥ aE 7R qd viferd & Tiean 39 W
& W & o foman o e 2

M) O g et oifendt & sfmia vt @ of ww B % R
forelt safSm sl Amis 3 oo 8

) foanfea ot duar sifufaam & simfa ot Tt uiferdt w wiferdans
BT 0T o S g 2 |

§) WE i A & e AFTE T TOF 9 H TWE @
T AITEHA T g

q) A WEE F A & oy st wiferdt W e a9 )

State with reasons which of the statements given below are true or false. 2 each
a) Life insurance contract is not a contract of indemnity.
b) A policy can be revived without evidence of good health within twelve
months preceding the date of maturity.
©)  Anabsolute assignee can nominate a person to receive claim proceeds
under the policy.
d) Loan can be raised by the Life assured under MWP Act policy.
e)  Proposal papers are not required to be completed by individual members
under a Group Insurance Scheme.
)  Know Your Customer (KYC) norms are applicable to insurance policy.

F) "I & yHR W FE9 § =t HRw) (I % 6 3i%)
@) T 79 Fwia sftaq dtar Frft & R e geR S 9ees

HTET S Eit? $9 TR & WS & Breel o A (AR # &)

W YA EMfer |

a)  Discuss in brief the "Types of Organisation". 6 each
b)  Whattype of organizational structure will be suitable to a newly established

life insurance company? Discuss the advantages and disadvantages (if

any) of such organization.



a)
b)
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(TEH & 6 3F)
“goTet Y & T gUEh % Hew B BT Bl T T A’
qUEh & e S &Y § gagEy
gt gt & T i @ s 87

"The importance of Delegation for effective management cannotbe 6 each
underestimated". Explain briefly the importance of Delegation.
What are the barriers for effective Delegation?

(IR% & 6 3()
3 SEd AT S St Wi & ey a5 Rt SR

& "y § g9IRw
i O g0 S @ HEH 3IM TR e Riyaat & 8@ afe
S ST TIST & QTR % THAT H HT A1 1 T |

Explain briefly the various causes/reasons for gapsin S S S Premium? 6 each
What steps must be taken by the Insurance Company to reduce the gaps
and thereby the discontent of S S S Policyholders?

(T & 3 37%F)

T Uiferdt ¥ &t 4o 18.08.2009 &t & Tft 1 38 3 Sfaw Wt
wifafar 10.01.2001, 15.10.2005 31X 28.12.2007 &t ot of St g84%
TH g ot ot

®)
@)
M
)

@R | HI9 § E-JUT A A1RT?

T Y A fea el & foIU STev-37eT &er Y97 §an?

7 A7 98 viferdt & v § Sig-gdre sat?

a1 goft T ot & simia ad we ey wied g A re-STer?

A Policyholder died on 18.08.2009, had three policies on his life taken on 10th 3 each
January 2001; 15th October 2005 and 28th December 2007 respectively each
for one lakh.

a)
b)
C)
d)

Which claim forms could be called for from the Claimant?

Would you obtain/seek seperate claim form for the three Policies?
Would you make enquiries in respect of 3rd Policy?

Whether all the claims under all three pohcles admitted at the same time
or seperately?



10.

10.

%)

Q)

a)
b)

%)
q)

)

b)
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SATITGATHS HHAE F % (A 39 54 a1 FaA & fovg o 5
AT
T8 T 3N TR ITw ohell & Y [y JhR TS ueh-3Teiaey 7
ot | g 872

Describe the steps involved in instituting diciplinary procedure. 5
In what ways Counsellor-Counsellee relationship is different from the 7
Manager-Subordinate relationship?

Lg% 1 32y 87 (FAF % 4 )
39 98 fhg yapR fRuffta & &% oy {59 safea/faam & s

€, 39 g Wy it aiead 82

39k formT & wogea fneht oft wrew &6t == SR i 7 wweEy

TH YHR & UTET S &Har W EI07 WA o g g 4 i
TET?

What are the objectives of Forms of Control? 4 each
How do establish that there is scope for Control of forms in the office/
department in which you are involved?

Describe any one form in use in your Department and explain what role

you could adopt for Controlling Abilities of such forms?

& ot wEet & fmfta srafers § ffte faami @t qfierei @t 8
ot SR St 72t A, g ok s it s Ry w o

Hohel 23 & F FW B

Wi s gumelt & frames (S Fames e nits) &t = 4
IfrhT 27

Describe the role of various departments in the corporate office of an 8
insurance company responsible for designing new plans, marketing and
monitoring the performance of the plan.

What is the role of regulator (IRDA) in the above activities? 4

Vo
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ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE FINANCE

HqUT : 3 62 ) [t 3feR : 100

Time: 3 Hours] ‘ [Total Marks : 100

mﬁmm&wﬁmlummé‘mm%quaﬁmqﬁ%:
AT AR URARIVT 12 Ak E

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory All other questions carry 12 marks each.

Marks
1. 999 WK a5 AR Hu 1. # aar aedl ®§ frefatag 9

31.03.2010 & g9id T3 & | Hy T @i 3% g fram
1938 g0 feifa yew # TR

| - (a2 000'W)
wrar vfitd - T AT
., w.
IRl o 24,200
HeETal & 3" 1,800
AT I ' 3,200
anffenial 3,730 -
sl 29w 3w 5 1,550 -
Jhe 9 800 -
ECTA GG 7.250
L ACiC] 22,520 -
YRygaar aar 39,170 -
ARtat YA 6,230 -
i el | wefem - 527
iepa afietal | gfasd - 9,200
arfee wedt offar 180 -
S =Y ' 2,990 -
T 7,160 | -
v a9 & difray - 52,800

Tty g 29,200
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o vitd e L)

®. ®,

= gfagfea 8 fafase 9,20,300 -
S, Y UG S - 57,800

- uifafaE W 39,510 -
qYFH T T 830 -
Sita =Yy - 8,31,646

T H 7,200 -
AT I G - 4,530
Fehral Yy aa ; 13,390

A T T Fieiad (5 - 4,112
T & fasha | oy . 925
Uiferdt S=1 WA - 23,100
ettt Wiftey - 96,250
ffa gt diftrem 1,712 -
A 6315 )

3w it - 35,000
fafay TR 3,133 -

- gy 1,230 -

[EIECESE! 2,170

Hel: - 11,30,830 11,30,830

refafaa qurEis &@ § - (€. 000" )
1) wid emEw) w.
- e gEiy ® 590

- HAHEA W 1,440

- IR W 286

2) AR & U yrawM FHRe 3,280
3) 9HET FHIE F YEEE HRU 124
4) SHE YAGRT A H JIEUE FRU 59
5) ey w§ Wi wOR 8 @Ey 103
6) Ydad 9rel 20
7) AR et e 70



1.

3

Following Balances appear in the books of Seven Star Life Insurance Company
Ltd. as at 31-03-2010. Prepare Revenue Account and Balance Sheet as per
forms prescribed under Insurance Act 1938.

AL -26
16

(Rs. 000»)
Head of Account (Debit) (Credit)
Rs. Rs.
Agents Balances 24,200 -
Advances to Employees 1,800
Advance Income Tax 3,200
Annuities 3,730 -
Annuities Due and unpaid - 1,550
Bonus in cash 800 -
Cash and Bank Balances 7,250
Claims by death ' 22,520 -
Claims by maturity 39,170 -
Commission to Agents 6,230 -
Commission on Reinsurance ceded - 527
Consideration for Annuities (Granted) - 9,200
Cash in transit Insurance 180 -
Expenses of Management 2,990 -
Furniture and Fixtures 7,160 -
First year Premium - 52,800
House Property 29,200 -
Investments in Approved Securities 9,20,300 -
Interest, Dividend and Rent - 57,800
Loan on Policies 39,510 -
Loan on Mortgage 830 -
Life Fund - 8,31,646
Motor Cars 7,200 -
Outstanding Claims - Death - 4,530
Ontstanding Claims Maturity - 13,390
Old outstanding Claims written back - 4,112
Profit on sale of Assets - 925
Policy Deposits - 23,100
Renewal Premium - 96,250
Reinsurance Premium Ceded 1,712 -
Salaries 6,315 -
Share Capital - 35,000
Sundry Debtors 3,133 -
Surrenders 1,230 -
Sundry Deposits 2,170 -
Total : - 11,30,830 11,30,830
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Following Adjustments are to be considered :- (Rs. 000"
1)  Provide Depreciation on: Rs.
- House Property 590
- Motor Car 1,440
- Furniture and Fixtures 286
2) Provide forI. Tax 3,280
3) Provide for o/s Commission 124
4)  Provide o/s Expenses of management 59
5)  Transfer for Reserve for Bad & Doubtful Debts 103
6) Prepaid Rent 20
7) RentReceived in Advance 70

2. %) yAf & fawm 7 et qafer faga o v § G899 § fam 4
fesftay

@) Aud I we s @ 9k § smavas s a yakeat skl 8

) T AFT T F R w, 6,000 H ST HA 21

i) ¥.8,000 ST HT & fTU 37T fFar T A g § e
TS -G 3 I AW faar o 36 Iy o-ger gfafke
ECIEy

i) AT T wws HA B %.20,000 39 €.22,000 F @6
fere qufean g 52 13

iv) %.7,00,000 F HTT Ht 7T HL W 5% H geid H g&E=
FEAT B |

v) g—crmooooa\ﬁﬁnﬁm@ﬁﬁmooomaﬁ?ﬁwaef%
fere &1

vi) T T &t 39 3 ®.12,000 1 JEEE SR

vii) §% 3 ®.57 9% gUR 90 B

vii) . &1 = %.10,000 T@E 3 forg i Ry 7w

2. a) Giveabrief description about Re-insurance ceded and Re-insurance 4
accepted.
b) Pass necessary journal entries in the books of M/s Ram and Company. 8

D  Ramhas drawn Rs.6,000 for personal use.
1) Amount of Rs.8,000 paid for purchase of furniture but wrongly
debited to Repairs and Maintenance - pass rectification entry.
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i) Rs.20,000 paid to M/s A and Co. in full and final settlement of their

bill for Rs.22,000.
iv) Depreciation at the rate of 5% is to be provided for on Motor Car -

value Rs.7,00,000
v)  Outof total rent paid Rs.20,000, Rs.4,000 is for next financial year.
vi) Provide for salary payable to Mr. X Rs.12,000.
vii) Bank has debited Bank Charges of Rs.57
viii) Rs.10,000 paid to Mr. Y on account of advance for painting.

3. db FHMM »
%) ‘fenms g’ o ‘SeRgIR’ @ 3 TaEl 3
@) St . &t T adt § 30.3.2010 & . 28,000 &AM 9 @ 9

T de faETT @t Sig e W fEfaiad gt § g

foauT s & yge et -

) % g E.128 H S TR oA 74 (349 o+t e @ |

fora 21

i) W, 25,000 3t 28.3.2010 i 41 &t T 9§ g0 5.4.2010
S R

i) &6 g F. 3,000 W TH F 9 4 SR & T

iv) T SO AR WS g w310 @Y @ s o R w

v) ®. 4,100 FT SfAEH e fRa T SIReEr % g STEr

, fear T 8w | & w2 o

vi) HEE T TUS FHH FRF. 3,990 S5 Ht 39 S & e
& T 3 Rl = .

vi) ®. 1,530 3% 9% 9 9% § 51 e w i s9e wua of
d% ° a1 T, 3 e @ 7% 9@ A . 5,130 & 67 WA

vii)) ®. 9,130 & 9k IR & Tl W 3 37ae A & fore g &
peil

3. BankReconciliation :-

a) Statedifference between : 3
'Demand Draft' and 'Overdraft'
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b) The Cash Book of Zee Ltd showed balance of Rs.28,000 Dr. as on 9
31.3.2010. On scrutiny of Bank Statement, following descrepencies were
found. Prepare Bank Reconciliation Statement:

) Bankdebited bank charges Rs.128 yet to be recorded in Cash Book.

i) Cheque of Rs.25,000 deposited on 28.3.10 was credited by bank
on 5th April 2010.

i) Cheque of Rs.3000 credited by bank now dishonoured.

iv) InterestonF. D. directly credited by Bank Rs.310.

v) Telephone bill of Rs.4,100 settled by bank as per standing
instructions, yet to be recorded in Books.

vi) M/s Shyam & Co. transferred Rs.3,990 to Bank in settlement of
their Bill.

vii) Cheque of Rs.1,530 deposited in bank and realised was wrongly
entered in Cash Book as Rs.5,130.

viii) Cheques issued for Rs.9130 not yet presented for payment.

3T TR ;- (5% & 4 3()
) afdRe fra=or oo efales or whemn

i) YS9 T o =Y

i) fafESH W e/ T e W STuE /s

Distinguish between: ‘ = 4 each

D  Internal Control and Internal Audit.

i) Capital Expenditure and Revenue Expenditure.

i) Cum-Dividend/Interest on Investment and Ex-Dividend/Interest op
Investments

fAfefed w gfera fewfimr fafae .- (T & 3 3(%)
) oty Torg =g "

i) Sfta &t fafy

i) WSO @

iv)  Sehrar diEm
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Write short notes on the following: 3 each

)

)
1ii)
iv)

)
i
i)

Deferred Revenue Expenditure
Life Assurance Fund

Inflation Accounting
Outstanding Premium.

Sfreetar o dtar & o wE W S ) (YT & 4 3F)
Hedish YR W TH Hie uef fafaw|
o1 {3 TSR & &id 37

Write the difference between life Assurance and other form of Assurances. 4 each
Write a brief note on Valuation Surplus.
What are the types of budget.?

faftm Shtam st aisre & favg o dev & saRwl (S0 & 4 3i%)
Sftamatar sifafram 1938 &t gry 27 TS faviy famget | fafa)
TR AT 1961 & UREBT VI T 3l oY TN T Hi
wetfadl & favg § fafaw)

Discuss briefly about various Life Insurance Plans. 4 each
Write salient points of Section 27A of the Insurance Act, 1938.

Write about four types of deductions permissible under Chapter VI A of

the Income Tax Act, 1961.

frfafas fadl &t ffaw ot SFuml &1 Weed aasT - (Y4® & 2 3H)

)
i)

i)

de] Sqard
Uy & U
BECEECERIG]

iv) FU-ER SR

v)

i Ha-fasha AU

vi) wfe 1000 sfmr afyr w eitwa wem Wiy
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8.  Write the formulae and significance of the following ratios : 2 each

i)  CurrentRatio

ii)  Overall Expenses Ratio

i) Conservation Ratio

iv) Debt-Equity Ratio

v)  Asset Turnover Ratio and

vi) Average First Premium per 1000 Sum Assured. -

9. of O % FyRiRad qelTe @ SR a9 em-gia @ 31.3.2010 & 12
T g% % fore SRy 3k St At @ faeer f qewe & ofa ¥ A
FHESH F S 4R SR

TereroT | |l
faena - 7,40,000
Ha (ETE) 6,99,200 -
Tsiglt 900 -
gt @ - 48,500
Eil] 300 -
e} AT (37 ) 400 -
M AT (TR H) 500 -
[SIEER| 600 -
= i ot dtfem 400

(%.300 wfed e 7 @ dfiftem &

foremeRt 30 2010 e 37T fohar Tar)

31.3.2010 = 9UER 61,250 -
Fe2T fiem - 600
o 30,000 -
TEI Fael 3 9% o 1,750 -
CLAREC| 100 -
3TN 3 A_R 6,000 20,000
R 8,000

IR IR 1 . 300

8,09,400 8,09,400

U 2
) e W 5% AN IT W 20% S gt TMEC
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i) 39 qee ° 9o e § g ST @ faet €.200 of wfwfe @
S 1.4.2009 F TH-ed W 2|
i) WeEE B IR HHYH AT G A W Y FHieH FHe gl

From the following Trial Balance of Shri Ganesh prepare trading and profit and 12
loss account for the year ending on 31st March 2010 and balance Sheet as on

that date after taking into consideration the adjustments given at the end of the

Trial Balance as on 315t March, 2010

Particulars Debit Credit
Rs. Rs.
Sales - 7,40,000
Purchases (adjusted) 6,99,200 -
Wages 900 -
Capital Account - 48,500
Insurance 300 -
Carriage inward 400 -
Carriage outward 500 -
Lighting 600 -
Rates and Insurance (including premium paid 400 -
of Rs.300 p.a. paid upto 30th June 2010)
Stock at 31.3.2010 61,250 -
Discount earned - 600
Buildings 30,000 -
Cash in Hand and at Bank 1,750
Discount allowed 100 -
Debtors and Creditors 6,000 20,000
Furniture : 8,000 -
Dividend Received - 300

8,09,400 8,09,400

Adjustments :

i)  Depreciate Building by 5% and Furniture by 20%.

i) Sales as shown in the Trial Balance include the sale of old furniture of
Rs.200 at book value on 1st April 2009.

i) The Manager isto getacommissionof %" on the net profit after charging
his commission.



10.

10 | AL -26
s e W g et frfaa) (I & 3 37%)
STiaRe @ werur A TRy dEr weT § Si SRy
SR @l [aaH W HeT | fafew)
T YR il & HRT derq H e T grar?

Write short notes on Contingent Liabilities. 3 each
Distinguish between internal audit and external audit ‘
Write briefly about fundamental accounting assumptions.

What types of errors that could lead to non-tallying of Trial Balance.
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ASSOCIATESHIP EXAMINATION
FIRE HAZARDS OF SPECIFIC INDUSTRIES

wuY : 3 6e ) : [Set 37k : 100
Time: 3 Hours] [Total Marks : 100
Rt 31T Tve & St IRNT | Tow Uv & 16 3fw & TR T rforard T 2 |
At TR YT 12 AF L

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Mark
(e 4 57%)
1. ﬁﬁ%ﬁwwﬁwﬁaﬁﬁmﬁrﬁaﬁmﬁwmaﬁm

T fEmIT Tl &l T FT
) = TR Ul afREe R
§) TEEE R T e
w) rEfe

T) S g

1. Explain the fire and Explosion hazards involved in the following operationsin 4 each
- the petrochemical plant/refineries. :
a) Blow down and Effluent disposal
b) Maintenance and plant modifications
c) Piping
d) Cryogenic process.

2. FHUE & MeM § T2 AT Tl qd1 G T A S JebAw ITRA 12
F fFE= HRI)

2. Enumerate the fire hazards and loss prevention measures recommended for 12
cotton godown?

3. 99 % SREHA d HieE A Tl B HHT § quiA RS 12
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Describe in brief the fire hazards involved in Tea factories. 12

2 % e § @ o T ST F0 UFR A F F A 12
== AT |

Point out the major fire hazards and the steps to prevent the same in Jute 12
Godown?

AR F A YSHHS G F A aq€C | IRk AR & el 12
I e FIRTT| T IR & 1 T 8 87

Name three petrochemical plants in India? Mention the products of 12
petrochemical plants? What are the uses of these products?

(IEF & 4 3F)

) fafm 37iaks e (3. @) sl § TR g4 ara i ot

9)

goel o AW FaET
U T qur gl heefEl & ga Herer 9 waft A
Tl B Y BT

¥) wRedtE SRR fEn (Red TSI, 26 R 1976) 3 STER
STt 59 Fi ot ST & AW SARTl

a) Name six primary fuels used in various Internal Combustion (I.C.) 4 each
Engines.

b) List out the fire hazards related to open storage of cotton Ginning and
Pressing factories. a

c) Name three classes of flammable liquid as per the Indian Petroleum Rules
(as per Gazatte of India, July 26, 1976) ‘

frefeied W iy fewfml fafe (I & 4 )
) faftm gfe wfkael o mitvd @m |

9)
)

T % FREE # R e @ g ey @)
e TR T H 31T & e 9, Yied= § W e
S aTe R H g g § - Sitfee wet| S|
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10.
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Write short notes on : » : 4 each
a) , Hazards involved in various unit Processes.
b) Specific Hazards associated with electrical installation in tea factories.
¢) Major sources of fire in Solvent Extraction Plant is due to presence of
Hexane, used as a solvent - justify.
1) @ Ftor ot e st @t =l i (37 & 6 3)
) wm%mﬁmammg@mwmm
TU Heft THa™ U 1 a0 HHI|
a) Describe the various stages of Paper making. 6 each
b) Enumerate any three major causes of fire and the related preventive
- measures in case of waste paper.
' (3% 6 3%)
) “frdt =g wRER § AP g % SRR wme & Y g/
GERT G Haaa: Rrier g 217 - == ;i
F) fd SaueRd e & = qur e S & T Tad # aviq
FIAC
a) "Drying/firing Section in a tea factory is probably responsible for large 6each
majority of fire losses" - Discuss
b)  State the fire hazards of Blow and Mixing rooms of a textile mill. |
. o (5 & 6 3F)
) gRatr s § arg e @ et gl 9 3 B uE Sfe
TA I IeeE HIC
) éﬁw&ﬁﬁm@ﬁé’wﬁwﬁﬁéﬁrﬁﬁaﬁam
i faa= HR)
a) Mentionsix principal fire hazards of metal working or machining process 6 each
in Engineering Industries. ‘
b) Indicate the various hazards associated with outdoor storage of materials

in chemical factory and suggest precautions.
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SRR, 2010 TRTFYTEroTT e
| 31 3Ued

ASSOCIATESHIP EXAMINATION
GENERAL FIRE HAZARDS

g ;3 ue ] (&t 37 : 100
Time: 3 Hours] _ [Total Marks : 100
Rt 3118 Tt & Sea AT | T Yy K 16 3w § ey g frard Tt 2
A yRwm YT 12 3w E |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. ﬁmﬁr@ﬁ%wm:(ﬁﬁ?w%wa‘w{): (T & 4 3()
3) A A I TR fHT I AR T AT AHF A b TN
. WER| -
F) T F AR sERaRh § ghHd 81 aa BRR fRRaed & ud
TR |
¥) R Wi & e YR R Tl 3 I I & alieh &
3R W fHar T 8 |
]) WA ¥ WK foiew 50 guEl e e vl sfufAam
7)  af geen ghfead g fermmofa @it &t 9R AR (38 7w
2 % el o1 foeiy ¥ 59 TR &1 -em 3 genfeq
foar sme) |
1. Name the following (answer any four) : ‘ o 4 each

a) Fourtypes of portable fire extinguishers used for fire fighting.

b) Five types of fire detectors used at various stages of fire.

¢) Five types of electric furnaces as classified depending on the manner in
which heat is produced there in. _

d) Five Acts as enforced by the Fire Brigades in India.

e) Four classes of fires as considered by the fire Protection Engineers. (for
deciding the type of extinguisher to be installed as per particular occupancy)
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37 T&d a1 AT T 82 3

d) T & T IR T 8 87 W R : 4

¥) HEAeTE O 1§ R o @R g € ad 3% g8 A & g 5
T & TR St 27

a) = What is Combustion or Fire? 3

b) What are the products of Combustion? Explain. 4

¢)  What are the fire hazards in Structural Metal Works and what protection 5
to eliminate the same? :

fferfad W feuoft fafey (IAF & 6 3P)

3) TR gemE

@) A TR qUIeh ¥ B ST SRS H T

Write noteson : 6 each

a)  Sprinkler installation

b) Carbon Dioxide used for Fire protection System.

T & FAR & HRUT ST G a1t AT TR Hl W HC 12

Explain the fire hazard due to height of the building. 12

w: T W 9 o [ e & GO @i § deRm g s H w12
afeta it 87

What are the Conditions desirable for Safe Storage of Coal to prevent 12
spontaneous combustion?

@ AT ¥ 2 1 T Y 379 = & I W) we S| 12
Discuss the fire hazards and their pervention associated with "Spray painting”. 12

-~ %3—76%)
) WA U GR AR e SR agEsd 9ugl &
fepar e & ek fore avert Samemelt ST fafaaifa favg a € -
I == T



)

a)
b)

9)
)

a)
b)
c)

3 | AG -52

IR A AR HROT & ST, T o= @R off 2 € 5

T B # A 2 Wehd 8, 9 2 3 geret 0T | g arett
B 7 F_T S Al - T YFR S 1 & =N ISEI0T AT |

"The Indian Standard classifies four different flammable atmosphere group 6 each

. for which seperate, specifications for flameproof apparatus are prescribed'

- describe them. -

'Besides originating and Contributory Causes, there are other hazards
which result in further losses which are not directly due to fire' - Give four
examples of these types of losses.

“qRedtE T S FE' & SER He & AW YRl H 3@
HIfST I

frefefian st #it W ST it 6 & et uiad o
T H HST AT TG Hebell B ¢

) wEaE
i) @ e sEwg
i) o 3MIT

State the four classes of buildings as per 'National Fire Code of India'
Explain the following factors which may increase or reduce hazards in
various Industrial Premises:

1)  Supervision

i) Loss Prevention Programme

i) Layout.

TR TRl FUTeh’ § 319 11 GH 27

IRA § Jaford TR HRTIar JUTlelt T Teh JaTT0T &fer |

AT de FeE TEreHl | A il dur 3 SRl 3l
W = S|

What is meant by ‘Mutual Aid System'?
Give an example of a Mutual Aid Scheme operating in India.
Enumerate the fire hazards and their preventive measures in welding and

cutting operations.

0o

AN



10.

10.

4 AG -52
(IS & 6 3)
‘aﬁﬁaﬁw 3T ok TIE HIQ % 7 FHR A g1+ il
fATATuT FROT qAT JAG Heig F gSART F Th @ § fHar s
Hehell 27

PRl it S % Rt B Skl A e BT

Draw the Loss Triangle' and expllain how a fire loss can be analysed into 6 each
a series of events with cause effect relationship.
List out any six signs of a well-managed factory.

END
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ASSOCIATESHIP EXAMINATION
- FIRE INSURANCE UNDERWRITING

i 3E] . [t 3t : 100
Time: 3Hours] - [Total Marks : 100
i oS Tt % S R | 9IH U9 % 16 m%mugaﬁara‘qﬁ'al

o rmEfli yRwm Y 123w S R

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

1. ﬁ@nmﬁﬁéﬁﬁmﬁaﬂa@@waﬁml Ma?;s

1. Give an outline of the contents of risk assessment report. 16

2 %) IS T4 St B 87 | ;(gaﬁasa\qé_eﬂﬁ)
) mmﬁﬁrvﬁﬁaﬁﬁﬁmmmaﬁé?

2. a) Whyendorsements are necessary? 6 each

b) Under what circumstances endorsements are commonly issued?

3. oftT iferdt & v . 7, e g9y dAArwaisi & W 4 8, & 12
stafa = WeE 7

3. Whatare the provisions under condition No. 7 of Fire Policy which deals with 12
"Rights to Insurers."

4. frafafas = o St Rwfrf fafew - (I & 4 3ih)
3Y) S @ A

) wgwmmﬁmmwmn
¥) T GEESH FArS
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4. Write short notes on three of the following :- 4 each
a) Forest Fire. | ‘
b) Endorsement wording for Spoilage Material Damage Clause.
¢) Escalation Clause.

5. T3 w2l % SMER R “Froet aikar” & fuior g 87 12
5. Whatare the faétors based on which "Net Holding" is decided? 12

6. 3 fim 7 fiftew W& 91 et g2 Wl SR am e g |/ 12
faw s A F-vd @ Eedt 82 -

6. Mention discounts in premium granted in Fire insurance and pre-conditions for 12
the grant of such discounts.
7. 3 gEER TR % Ter gaue @ e SR | 12
7.  State the salient provisions of Fire Declaration policy. 12
8. ﬁ@mwé?ﬁa@mﬁﬁﬁaﬁa@ﬁﬁuﬁamw%’? 12
8. Whatis PML ? What are prescribed forms to be sentto GIC ? 12
0. ‘ame YR 3 RA M) AR F W R I AR 12
9. Define the term "Warranty". Give any four examples of warranty. 12
10. T @t s A H okl SR 39 w1 R 87 12
10. Definé Facultative Method of Reinsurance. What are it's advantages? | 12
..... m‘m“ |
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ASSOCIATESHIP EXAMINATION
CONSEQUENTIAL.LOSS (FIRE) INSURANCE

g 3Ee ] [ 3 : 100
Time: 3 Hours] [Total Marks : 100
Mamwﬁé-maﬁnzluwma-mm%ﬁm@azaﬁaﬁ:ﬁ%n
A TRFRUTT 2 HFE R

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questlons carry 12 marks each.

Marks

1 3) e ¥ PrEried g QST SR W e Tt # 4
TUHT ST
3191 2010 T TUTE A Gt 96 & AT ST | S @
IRMF Wik - 10,00,000 | ferspt 1,00,00,000
yRed=sfter 99K 75,00,000 | 3ifaw i 15,00,000
A= g9r 20,00,000
IECRGIE 10,00,000
1,15,00,000 1,15,00,000

F) qRomd gy () oo H “siae s’ fAfrefor & T v €7 8
¥) Ft o qRad-efter 7o & Seer SR 4

1. a) Workoutthe 'Gross Profit' on Difference Basis given the following results 4
of the business.
Income and Expenditure A/c. for the year ending 31 st March 2010
Dr. Rs. | Cr Rs.
Opening Stock 10,00,000 | Sales 1,00,00,000
Variable Charges 75,00,000 | Closing Stock 15,00,000
Fixed Charges 20,00,000
Net Profit 10,00,000
1,15,00,000 - 1,15,00,000
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b) What are the advantages of "Difference Basis" specification in a
Consequential Loss (Fire) Policy?
¢) Give examples of any four variables charges.

o) gfagfe sEfy R e 27
9) Sfum giaqd rEfy gAd W 5 s W e & s |Re?

a) Whatis Indemnity Period?
b) Whatare the factors to be cons1dered while selecting a proper Indemnity
Period?

mmm%mw@ﬁmmﬁ REUC R
3R fafy ot o R g 82

What are the merits of 'Dual Wages' basis method of covering wages under
Consequential Loss Policy?

mmm%mm%mmmm@m
T forar St 82

Which are the Consequential Losses not covered under the Scope of the
Consequential Loss Policy?

B9 | w2 gRerH g () dftm 3% dareied B g w@ €7

‘Which are the factors influencing the underwriting of the Consequential Loss
(Fire) Insurance? B

mmmmﬁmmmmméﬁ@ ‘sftaa wt

I’ W H)

Explain "Condition of Average" giving suitable examples as app_licable to
Consequential Loss Insurance Policies.

8

12

12

12

12

12

12

12

12
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(FAH & 6 3H)
1) wReret @i Shar ¥y Yo A IS AUl ¥R @ Sead
HIfAT
¥) wRordt gy wifereh & afaria fiwr a0 i s 999 6
T W [GER & S =mfee?

a) Mention the important questions in proposal form for Consequential Loss 6 each
Insurance?

b) What are the factors to be considered while fixing Sum Insured Under
Consequential Loss Policy?

SRR g1y uifereht 9% vl & efaria ‘e’ g = Rafq ¥ ffaemrs F 12
1T =1 e frafRa T e 897

What are the duties of the Insured on the happening of 'damage as setoutin 12
the conditions of Consequentlal Loss Policy?

¥

S N Ay S v - (e % 4 37%)

)  HifeEw 6t gl st
i) e =i

i) AT Thes B B FAS
iv) fawrfta srst

Write short notes on any three : 4 cach
)  Return of Premium Clause

i), Accumulated Stocks

i) Auditors fee Clause

iv) Deparmenta] Clause

frefafan $ = siR W= =i (5T F 4 3F)
3) Wt g gRedHtT JuR

) IRMAF TR A9 FIYE TR

H) el A 9T fHEe @9,



4 . AG-55
10. Distinguish between the following : 4 each
a) Standing and Variable Charges
b) Inception Hazards and Interruption Hazards
¢) Gross Profit and Net Profit.
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ASSOCIATESHIP EXAMINATION

FIRE INSURANCE CLAIMS
T3] (e 3fa @ 100
Time: 3 Hours] [Total Markwg—_/
Tt 211S Tt & Seav AT | T Y9 9 16 3ieh & Toheg @ otfamd =it € |
3T Weft TR U 12 3w R |
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

1. mmﬁﬁwéﬁ@ﬁmwﬁmﬁm@l Maﬂisé
1. State the definition of proximate cause and explain with the help of an example. 16
2. A A wiferdt & sila wearedd v & wEEH w41 e ? 12
2. Whatarethe proyisions of arbitration condition under a standard fire policy? . 12

3. @) @i gEAeh iferdt & sifa swiv Wifem | ST = wWed 8
§7 wre FIRT % arafys figT § TEr BRY 9HR @ S 27

F) T i & sfavld Wiy SYUnel & SR T g &7 4

3. a) Whatis meantby provisional premium under Fire declaration policy? - 8
Explain how actual premium is worked out. ,

b) What are the basis of monthly declarations under such policies? 4

4. foreht ot e wefeor Roie & STafar WUl wegal i WalY § WHeEy 12

4.  Explain in short, important aspects expected in a fire 1oss survey report. 12
5. W A Uiferdl o Sfarid ST TS-3 HET Iuee 87 12

5. 'Which are 'Add-on’ covers available under a standard fire policy? 12



6.

6.

7.
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TR0 T Uiferell & Bl o1 3eed S
State the advantages of Reinstatement Value Policy.

At w2 o 2 Rt o s iR

t’?.\’i)escribe the rules for construction of Fire Policy.

8.

10.

10.

Wﬁm%ﬁwwwwﬁm@wwﬁa%waﬁmﬁ
H T R WIS STy

Describe the scope of Terrorism Cover and limits of liability of insurer under
this Clause.

{9 TR | ot 3 T, STURH a7 I A 71 % e i
oA T 87

In what way condition of average, contribution and subrogation effect the
settlement of fire loss.

Afia wifert & sfmfa SXfaa smuereil &1 =are |

Enumerate the perils covered under Fire Policy.

amemee END eeeeee
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12

12

12

12

12

12

12

12

12
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ASSOCIATESHIP EXAMINATION
FIRE & CONSEQUENTIAL LOSS INSURANCE

3 Ee [&et 3@ @ 100
[ime: 3 Hours] [Total Marks : 100
Tohal 31T T9AT o St ST | G0 U9 o 16 ek & Tohe g orframd =& & |

T Ul U UV 12 AFH R R |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

' Marks
A & o AT qGT FI SHe H FiHAT B T 16
. Explain the process of surveying and loss assessment of Fire Claim. 16

), wRomt g1 (21) uiferdt & siafa Rfeafad ama § ey &t afyn =i 12
T A

e oy o S Wt g9R - ®.20 99
O A3 - ®.50 @rg
FIYH Y F AN AR - ®.20 AE
F4 & 99 g3 A - ®SAE
st ol g9 | s9d - ®2 99
Tffes THamer - ®.60 9@
sftar af¥n - ®20 Q@

J, Calculate the loss amount under a Consequential Loss (fire) Policy in the following 12
case :-

Net Profit and Insured Standing Charges - Rs.20 lacs.
Standard Turnover - Rs.50lacs
During interuption period turnover - Rs.20lacs
Increased cost of working - Rs.5]acs
Savings in Insured standing charges - Rs.2lacs
Annual turover - Rs.60 lacs

Sum Insured - Rs.20lacs




2
fereft q-womUe o wiferdl @ s fERivATG St €7

What are the features of a Reinstatement Value Policy?

qRuT B uiferdt 3 il Aol 1 ST F 3 e et =
gidt 872

What are different methods of covering wages under a Consequential Loss
Policy?

g, TH. U. § §rf St & =R W YR S
State the practice of Property insurance in U. S. A.

39 BT 1 oot Sifsre s 3 uftodt gy uiferdt & sfata smafa
T £

State the losses which are not covered under Consequential Loss Policy.

37) A W A &R & e S (T F 64
q) SRR HiY qur Ufeed YA S o A

a) Mention the different methods of reinsurance. b
b) Compare Surplus Treaty and Facultative Reinsurance. '

) el geSiiay uiferdt 3 afiia ST &5 # 9= S
q) THE AT F FaHHT 77

a) Give the Scope of Coverage under Industrial All Risks Policy.
b) What are deductibles under the same?
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. faeefad & 2rar e % o amuR 2 & - (9T & 6 37%)
3) Haq :
¢ 9) fAftfa =i ?
9. What is the basis of Claim Settlement in : 6 each
a) Building
b) Manufactured Stock?
0. FeAe qiferst 3 @t qer geeh @ R @ == aifw 12
0. Discuss in detail the benefits and Coverages under declaration Policy. 12
----- THATET -=-nn




w0 g a2 G-61
’ HIT BT R

ASSOCIATESHIP EXAMINATION
CARGO LOSS PREVENTION

w3 ue ) [&e 3w : 100
Time: 3 Hours] [Total Marks : 100
forret oS woAt % Sl AT | FIH e & 16 3te & Tenm o onfrard Tt € 1
I At YR UIT 12 AF H R |

~ Answer EIGHT questions only. Question ONE carries 16 mafks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. “UNEET QT a9r Toe M 8 o7 s TR @aU 8 59 TR S S 16

9 fpaT ST a1 27

1. "Fireisaserious hazard in transit sheds and port warehouses." How can this 16
fire hazard be reduced?

2. THH 97 9 R e @t frerh 7 @t 8, Ie fved aeft WA uthr 12
T U |

2. Describe port procedure for treatment of uncleared goods from port area. 12

3. FHN 9N H FW IJW A AR AW F o @ & w@w H G 12
H Gat B FW F G w74 §7 -

3. Whatare the safe working practices governing the use of slings in hoisting and 12

lowering cargo loads?

4. GTH TR TR 99 91 a1 9 & ged | sard 6 Hm & 12
FHitai/aRar &8 Tt 51 Gt 87

4. Inrespect of goods despatched by road transport, how can cargo shortages/ 12
thefts be prevented? :



2 AG -61
fAefetfiad & SRoT FaTd (T & 2 ()
%) Tl e & woh § WR W Gug A9 Jeheil i AR a9 3ok
LER R E R S ]

@) F3 AR IS d 55T & G HW F 9L 78 9 £

) 99 @ T IR GHET IR, 3Hb <41 90 W I 9Tl a6 39
dta g aret o @ Pt g |

u) ot 9 = &, WU & Her IR ST W a1 W A el
At & 13 R 7 farmeor @ gan 2

9) ot 2R o S BTN & FAeRoT H Heferd e Hecqul & 2|

¥) I WU W A W@ 99 HiE oft 12 39 yaR T @t s A
for a5 == 3 TR & AR & ofe e @

Give reasons for the following :- 2 each

a) Sturdy packages should be stowed in the wings and lighter ones in the
centre when loading a ship's hold.

b) Inmany instances cargo stacks collapse during unloading operations.

¢) The force on the two legs of a sling to which a load is suspended is -
determined by the angle formed between them. ‘

d) The capacity of any bridge depends more on load distribution than on the
total load of the consignment.

e) Itisimportant that the distribution of cargo within the container is balanced.

f)  When stowing upper tiers, no box should be placed so that it rests inside
the edges of the box beneath.

F) TE-3BET FW H qUT H| - (5 & 4 37).
T) ool & T TR & &Y § a6 & shel H a0 H |
) Al (3TRRTE) do s % BrEs-hEM 41 8 87

a)  Describe shut-out cargo. 4 each

b) Describe wooden crates as type of packages.

¢) What are the advantages and disadvantages of Intermediate Bulk"
Containers?

T 2 o6 Sxaash giamrdt A6 & foe o1 U e s 9 87 12



10.

10.
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Suggest what measures can be taken to prevent documentary fraud? 12
SRS T AROT EA W AW B G areht ¥ el w87 12
What are the principal types of damages to cargo during stowage abroad ship? 12

IR B BRI T, 1865 N (&3 4o sl o e & 12
T R |

Explain the liability of road transporters in India as governed by the Carriers'’ 12
Act, 1865.
F) FR-B-ER T HeTAHT F F1 o9 87 (7% % 6 %)

@) H2Fie HOn @t Wb & go w4 87

a) What are the benefits of Door-to-Door containerisation? 6 each
b) What are the basic packing rules for containerised cargo?
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COMMERCIAL GEOGRAPHY :
T 3 He ] [&et 3@ : 100
Time: 3 Hours] - [Total Marks : 100
Tl 318 g9l & I AT | T 99T 16 3t € fog g arforared =t 4

AR yRAF g 123w H E |
Answer EIGHT questions only. Question ONE carries 16 marks but this is niot
- compulsory. All other questions carry 12 marks each.

Marks
1. “Fafy T 6000 . H. wwlt qelEr @ wetem siaety SR & 16

fore e = Refa stafes o1 8, Ay 75l i sewme =4 §1
HT T G §9 HI7 W feoqoft 3

1. "Although India occupies a highly favourable situation for purposé’s of 16
international commerce, having a coastline nearly 6000 K.m. long, yet it does
not have many ports" - Comment on this statement, explaining the reasons.

2, a@wﬁﬁam%@aﬁﬁw@qwmwﬁrﬁ 12
Hiftr 31 T 1”7 39 HYA T qeieT |

2. "Introduction of Suez Canal to sea traffic brought about a revolution in . 12
international trade and Culture." Review this Statement.

3. wEE f sl nifafal w e w1 T TS 8?7 (9 ¥ 6 50)
F) @
T) SEN-HET

3. Explain how the following affect maritime movements: - 6 each
a)  Salinity
b) Tides
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mmmwaﬁm%@%ﬁ@fmﬁ%wm IR 12
%ﬁmmmﬁl

List out some of the i important Ports of Canada and U. S. A. Highlight their 12
importance.

WWW@W?WWWWW%W 12
W =87

What is multimodal transport and what are the salient prov1s1ons of Multimodal 12
Transportation of Goods Act?

R 3 i & si o ,_ (5 4 3i)
F) 7 A W

§) W@ 41 M7 §E0e

) egEe. 7o e

Distinguishbetween: ,  4each
a) Latitude and Longitude ‘

b) Major and Minor Ports
© ¢) Asteroids and Satellites.

&) fafmeg w1 & 9l &)  (TAF % 6 )
@) 9 HI3 AT T SAeR 8 S €, a9 39 U’ & e o
IUT T 27

a)  Define a Bill of Exchange. 6 each
b) What remedy is available to the holder when a Bill of Exchange is
dishonoured?

mwﬁmmmmﬁaﬁwwﬁmgﬂm 12
st §7

Which major ocean currents do you consider have the greatest effect on 12
shipping?



10.

10.

3 | AG -62

%iaaﬂtswmﬁqaz 1925 & & W A& H TS AHR qe
D IR AT &1 T TR F JEE & Sfqia @t 9 @ I §
m@wmﬁwﬁﬁgmmﬁmé?

Under Carriage of Goods by Sea Act, 1925 the ocean carrier has certain
rights and immunities. What are the liabilities which the ship owner may contract
out of under the the provisions of this Act?

THY T SAEy ST &7 &4 § a91 af Fi9 9 w7 § 9@ 5
fauaretl & o #t Sy ged ot 29

How earthquakes and Volcanic eruptions occur and which locatlons are most

- prone to these calamities?

12

12

12

12
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ASSOCIATESHIP EXAMINATION
MARINE CLAUSES

qg ;3 °e | [&e 3@ : 100
Time: 3 Hours] ' [Total Marks : 100
Terl 3118 yoall & S AT | g 9 9 16 fe € feheg o atforamd i €1
AT AN URF IIT 12 3HH 2 |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

) Marks
1. %) 9Rum & 9 w9Ee % g i et @ 87 6
T) T | A F AW W TF UG F SAErEd IR § T 8l 10
T @ T g St & St o gt 81
w.
e
7T W U g A : 75,00,000
LK R R R :3,50,000
et ¢
H Tl wTel :5,00,000
T &t &fy SRaEE & R 38 Al sR wEd . 2,20,000
HT
HITN & i e : 45,00,000
T i i FHEE & 9% #it . 8,60,000
%.4,00,000 3 | ftmr &fr &1f g3 | TS W A1 AR F Tl
I & qf ‘ourd & iR @ o R
1. a) Define and explain 'General Average'. 6
- b) Aship on voyage from Mumbai to Aden encountered volcanic eruption 10
and General Average loss was declared.
. Rs.
Ship:
Sound value of the ship at destination : 75,00,000

Cost of repairs to the ship . 3,50,000



2 AG -63

Fright:
Gross Fright at risk : 5,00,000
Expenses of earning it subsequent to GA act : 2,20,000
Cargo:
Invoice value of cargo : 45,00,000
Damage subsequent to GA act : 8,60,000

There was a General Average loss of Rs.4,00,000. Calculate the 'amount
made good' by each party to the adventure.

ST fAest Remy FASs 1.6.1988 & i STaRuT & @R &1 12
Juiq R |

Describe the Scope of Cover under the Institute Builder's Risks Clauses 12
1.6.1988.

R TR AT - g 1.10.83 o ded F=fafag @ &a fAwer

S & | (TEH & 6 31F)
%) T TR

T) U & ?

How are the following treated under the Institute Time Clause - (Hulls) 1.10.83 6 each
a) BottomTreatment

b) Unrepaired Damage?

ang. . . () 7ur one. <. . (&) & qed omaRa omwesd W qem 12
F T T 5 37 q?dwﬁﬂ'qﬁﬁ??

Compare and contrast the perils covered under the ICC 'C' and ICC 'B'. 12

frferfad & e wr smasi & (9% 3 6 3®)
%) IRTSE IR FATSS (ST FI J907)
) RS i TR ?
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What are the exclusions under : 6each
a) Institute War Clauses (sendings by post)
b) Institute Coal Clauses.

Reee FON TS & siwia ffirad & TRom Fr €d € .
%) aEr § wadd - (5% % 4 57%)
@) IWE & q& oo § uRadd |

T) T F B [ 3T FICME/TAH TGS H WlAET B FAG ?

Under the Institute Cargo Clauses, what are the consequenses of : 4 each
a) Change of Voyage

b) Change of destination after discharge

¢) Termination of Contract of Carriage at Port/place other than destination.

frefelad & dedf o di @1 1 LT Avgar & Y9 S A Wi
&) HOW W AN (Iraw) wiferh (T0E & 6 ()
W) & W 9y (IeH) uiferst

Explain the effects of Unseaworthiness of a Vessel as regards : 6 each
a) Voyage Policy on Cargo '
b) TimePolicy on Hull.

HicrotA ] éﬂ@mwa 1 I F B a1 3/ ARG 12
wRRefE § 9 e e ST 87

What is the objective of the "Institute Dual Valuation Clause" and how is it 12
applied to practical situations.

fraffad TR # U W & aifea e S 8 0 (TR H 6 %)
%) faoiy serur sifaw st

W) Fg WO qiferdt ?

What are the warranties applied to the following types of policies : 6 each

a) Special Storage Risks Insurance
b) MultiTransit Policy.?
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10. fm=fafes w dfera fewoft fafe - (IS & 4 ()

10.

%) § @ g (3Reege TRy FArAw-1e)
q) 9 H BE e g
M) wEOT @ e

Write short notes on ; 4 each

a)  Loss of Time (Institute Time Clauses - Freight)
b) TeaCrop Hail Insurance

¢) Burden of Proof.
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ST, 2010 TEITITE T e
OCTOBER, 2010 .

T T ot |

ASSOCIATESHIP EXAMINATION

’ MARINE UNDERWRITING :
g 3Ee ] [T ik : 100

Time: 3 Hours] [Total Marks : 100 ’
TRl =1Te gl & Seat ST | 9o U9 & 16 3iek € TR g atforamd wft 7
AT EM TAH YA 2 AHmH R | .

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks

1. “TS T % BN B JHA FR-H dagE Surmal HogwREg @ 16
2 T IeTEvunt & WY 59 g W ferwuft w
1. "Thenature of a vessels cargo sometimes affects a hull underwriter." Comment 16 -

on this statement with four illustrations.

2. A A T § 9 SReee TN TS Eew 1.10.83 FAwa e v 12
A HA F T R (i w1 27

2. What are the factors which determine the rate for insuring a vessel subj ectto 12
Institute Time Clauses - Hulls - 1.10.83?

3. =i & &t #1 o) W= % (S8 % 4 3ih)
%) fraie Sy qor ey S ‘ |
@) el AET a9 Gelt ifersht
T orE. . . () qwn owE. . . () & 3fwia smERa s,

3. Distinguish between: 4 each
a) Quota Share Treaty and Surplus Treaty.
b) Opencover and Open Policy
¢) Perils covered under ICC 'B'and ICC 'C'
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(%5 4 57)

ﬁwﬁa@a%mﬁﬁm%mﬁwﬁwé 3% HY e
Tl & 9T 81 A & & qre A 3 fha Gaesier 87 fa9y 9 39
Fard f5 afy BT IS SRaw st T e T @ SN AT - S
& faofa & 399 @ 1 yfam A

$) IIEH

@) & & a\

M 7 d 9T Tm-amit?

“In respect of following, describe the nature of Cargo, how it may be carried..

and its susceptibility to loss or damage, with particular emphasis on what might
influence your underwriting judgement if such a risk were to be offered to you.
a) Ores

b) Cocoabeans

¢) Tinned provision.

e/ & fore geE & yai A 99 At STueety hiEat S i g
maﬁ%ﬁwaﬁmé‘mmaﬁqu@ﬁwﬁr@w
TIfee?

What underwriting factors need to be considered in respect of insurance of
offshore units used for drilling for oil/gas against physical loss or damage?

TR AT TRAR I U W@ FH A 9 T @ R et e s
Sifew 1 w1 FE T A ¥ WA/ F | S IR FRA F IedE
F L TH FIF B elt-wify g

The 'Voyage' or 'Transit' is one of the five principal factors to be considered in
insuring a marine cargo risk. Elaborate the statement citing the other four factors.

4 each

12

12

12

12

ffafes gl S Ry o ed Fnd: (T & 6 )

&) A Al
W) TR e o7



10.

10.
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What are the objectives and functions of the following institutions: 6 each
a) Re-insurers
b) International Maritime Bereau.

fmfef & aeq Strerur 3 srafty W o (5 % 6 3i%)
F) ISE T W TR
@) ¥is gife (e ot Vg) welist o,

Discuss the duration of cover under : 6 each
a) Institute Natural Rubber Clauses
b) Inland Transit (Rail or Road) Clause 'B'.

(IR&F & 6 3i%)
W%WWWMﬁmﬁwmwﬁm
=9 | Y 92T s 8-
F) wN &y
9) i i ?

How is loss, damage or expense arising from an incident of maritime fraud 6 each
dealt with in :

a)  Cargo Insurance

b)  Hull Insurance?

frfeian = st fewoh ford (IAF & 4 )
%) dId-99E wiferast
Q) FOiis dard
M AR e
Write short notes on.the following:-- 4 each
a) Fleet Statistics
b) Trading Limits
¢) Deferred Repairs.

----- HHTG -----

END
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ASSOCIATESHIP EXAMINATION
MARINE INSURANCE CLAIMS

g : 3 6 ] [t 3feh : 100
Time: 3 Hours] [Total Marks : 100
Tt 31me yoel o Seat T | worw uv & 16 3k & g ag orfard =l € 1

I wft yw T 12w w
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. U9 S T ‘T THUD § a1 38 HHL: 75% a1 25% et orEn S g ) 16

et e § |
’ tﬁ'&"l"@l" "ﬁ?‘l“a"

£ £
LGRS 82,000 180,000
AN/ EHE 14,000 40,000
HITN & 21,000 98,000
i i - 40,000

o ‘o7 oM. A . gew 1.10.83 F @8 £ 232,000 A YA, &
fore £ 10,000 it etet = Tl & wrg ffew &1 T ‘oF quta: we .
e T, Fo H ff gfy= 21 uiw ‘o7 %t gt we wefi=d wiferd & awa
@ F FEESH B adr . we e, Fod q9r deannd & {75 #it
g +ff T

1. Vessels'A'and B’ collied and are found 75% and 25% to blame respectively. 16
The losses caused are : ‘
Vessel 'A’ Vessel 'B'
. £ £
Hull damage 82,000 180,000
Detention 14,000 40,000
Cargo damage 21,000 98,000

Personal injury - 40,000



2 “AG -66
Vessel 'A' is insured for £232,000, so valued, under I T C- Hulls, 1.10.83 with
adeductible of £10,000 and is fully entered in a P and I Club. Adjust the claim
under vessel A's hull and machinery policy and show also P and I Club's and

Owners' shares of liabilities.

TAREY o6 KR 4T Tt WA % il Y S A FUR & @ 9 12
Y e ST 82

Explain how claims for Sue and Labour charges are treated under cargo and 12
hull policies.
frferias aitftafaal & Yo yome &t o gremEy ; (A% & 3 3i%)

&) | A & NET T W R & e
q) gelE go d A g @
M) WA § e st STeRiy g3 8t

) e gyE g8 @

Explain the liability of the Railway Administration, when : 3 each
a)  goods are booked at owners' risk rate.

b) Carriage is in open wagons

¢) thereisdelay or detention in transit

d) thereis wrong delivery.

: (IR F 6 3()
%) BRI o ST (R S Wb et o 3 T w39 o g

& T VR A A T R S 89
) SN TE F FHEiSE § SRE At @ S8 figer s 82

a) Explain what is meant by total loss of an apportionable part of the cargo 6 each
and how are such claims adjusted?
b) How are trade losses dealt with in the adjustment of cargo claims?

e § R wia ff @ for w.1,00,000, 797 e, F R T 12
219 Tier R a3 Rt 9R 3 B F @ wem &) w0 i
Hehel e TR 260 fhell qeT SR (T B AR) 60 Fret @ 5 Wt @y
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Thel R 240, 250, 257, 252 q91 256 el um=m SMam 81 <@ &1
THRISH ® afe wiferh .
%) ¥ Rum wmiter gt 4 st wor ofy Ao 3% &
@) (%) & SFTER & fbeg =T g 1 | i A9 S
) ﬁﬁmawmﬁaﬁaamﬁmwwﬁamsmﬁ@
1fere 8l

Five barrels of oil are insured for and valued at Rs.1,00,000 and arrive at - 2
destination leaking, with shortage in weight. The gross shipping weight of each

barrel is 260 kilos with a tare of 60 kilos. The gross weight of 5 barrels are

found to be 240, 250, 257, 252 and 256 kilos. Adjust the claim if the policy :

a)  includes leakage if amounting to 3 percent on each barrel.

b) as(a)butassuming a normal loss of 1 percent .

¢) includes leakage if in-excess of 3 percent in each barrel or on the whole.

afome Rafd § 1§92 g¢ IR & wdlaror Raie & gt v § o7y 12
5 T SHHREl & ahem H?

Indicate the salient information you would expect in a standard form of Survey 12
Report on Cargo which has arrived damaged.

Ia ATt foheft TRl SeUe W SR 31 S a9 9 SO0 <49 96T & 12
guig |

Describe the cargo claim prbcedure when goods are landed at an intermediate 12
port.

freferia % forg wes o wiferdt & siarfa afaqfl & aRamT = @

g (YA F 6 37F)
%) fomiy st afy

q) AT St i stveE?

What is the measure of indemnity under a cargo policy for : 6 each
a) particular average
b)  general average contribution?



10.

10.

4
e YO & o B Ueee W T

Discuss the legal aspects of road transit Claims.

Ffefiad &1 wee qHesy -
F) AW T

W) AISH TSieH

Explain the significance of the following :
a) The Salvage Association
b) Lloyd'sAgents.

AG -66
12

12
(IAF F 6 i)

6 each
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ASSOCIATESHIP EXAMINATION
MARINE INSURANCE

wuY : 3 6 | | [%et 3w : 100
Time: 3 Hours] [Total Marks : 100
Tl 218 Uv=il o St ST | 9ord U9 &5 16 3feh € Termg org otforamd =l @ 1
g At TR U 12 (wm R E |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

5 . Marks
1. ®.20,00,000, Zor it & forg sftfew St st 200 9feai (7 16

1§ T I F 20 9 S F) Hio | Sikg a5t €. wph

AT % S G HET F FROT G STl Hern # I T R SR

H @t e O F o @ T REE FRm a9 Wi, D9 B JHeH

g3 Tidew W A W fefafan aifvai R -

i) 80 Ufeal T qu M H I & (A A T T g |
& g8 | |

i) 30 YRal W 9@ ¥ qfvw g% - [oIe™ 30%

i) 10 A § IR 1 U Tew qur 20 A S [ Y Ty

iv) 2 Ufeal IE & S w8 )

v) 2 ufedt it w9 3T g

vi) 76 el gEe of |

HARTUT Y[esh A1 €.3,000 Feah Ut o e & oft | A Sreot fergEn

of @ PR I I S AT B

F) e, . W@, (T
w) g, of. @, (&)
M eng. . . (&)

1. 200 cases of Shoes (each case contained 20 dozen pairs of equal value) insured 16
for Rs.20,00,000, so valued, were shipped from Kolkata to Kochi. During the
voyage heavy weather was experienced and sea water ingress into the holds
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damaged the cargo. Subsequently, a fire broke out damaging the cargo and
ship. On arrival at destination, following losses were observed :

)  80cases damaged by fire and water used to extinguish fire.

i) 30 cases damaged by seawater - depreciation 30%

i) In 10 cases pilferage noticed and 20 dozen pairs were found missing.
iv) 2 cases were lost overboard during discharge.

v) 2 cases were short landed

vi) 76 cases were sound.

Survey fee was Rs. 3,000. Each case was of equal value. Work out the claim
payable if the Insurance cover was subject to :

a) ICC(A),
b) ICC(B)and
o ICC(©

WW%WWWW%WWG&TWW 12
&l AT H

Why is reinsurance essential for Marine Insurance? Explain Quota Share and 12
Surplus treaties.

TOFRT o e Al Aol &l 3afid #a ug e ftar - efsa 12
HH B €A B W@ ST =1e?

Explain the Underwriting factors that need to be considered whilst covering 12

containerised shipments.

femforfaa & el & &9 us 7 iferht 1 s fear s we 8

%) W (3 o 6 3i%)
T) & fiar ?

When can a marine Policy be assigned in respect of : 6 each

a) Cargo Insurance
b) Hull Insurance.
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frfefaa @t e frgiard ¥ (3 6 3%)
%) fay deror sty dtar | |
©) HH F A g iferd
What are the salient features of : , | 6 each

a) Special Storage Risk insurance
b) Package Policy for Coffee.

TS SN 1376 819 & A1 TS a1 oS § AR aH & AT 12

9T HA Tl Bl FI FeAg 207

As a Cargo Underwriter, what advice would you give to Shippers with a view 12
to improving adverse loss experience.

(TRAF & 6 31H)
F) T 70T Au-dEs F A 0l & aifeor =i qeeu 87

@) &y F Fard % grewer sty fm g e w1 R R W &
Yo STEIRT A F TSl b I2vd F M 47

a) Why is classification of Ships important to a Marine Underwriter. 6 each
b) Briefly mention the objectives of system of ‘approving' a Vessel's operations
which was initiated by GIC..

B e (8e7) @l & (M9eM & T (5 Swasit @i SNaegshr asdl 12
27

What are the documents required for Settlement of Sailing Vessel (Hull) Claims? 12

(T S 6 37E)
F) fodt viaard # & #i9 d 2ad @ S % ReERS g e &

sifa smafia 7 gt 82
@) Yo dta H AT FE 9 g e #@1 Sed )
a)  State the Shipowners' liabilities which are not covered under aConventional 6 each

Hull Policy.
b) What are the general Regulations governing Duty Insurance?



10.

10.
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freaferfan w dey o frweh fafew - (F% & 4 3i)
%) T wq (:3eF I W a9 T A H A

g) IqUW EifeEl

T) R U

Write short Notes on:- 4 eéch

a) Insurance of cargo sold on free-on-Board terms.
b) Successive losses
c¢) Liner Vessel.
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ASSOCIATESHIP EXAMINATION
AGRICULTURAL INSURANCE

I ;3 ue | | [Set (e : 100
Time: 3 Hours] [Total Marks : 100
=81 213 Tol o SeX T | 9o Uyl & 16 3ieh & Taheg I erferard =t 1
I AM URH I 123w H & |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Mark
1. 3 @ 2010-11 5em Y, T8 A %o & foru, radiar TemaR 1 ge Ss

®.12,000 9T SFIR T ArEAlers da@R 35 150% 1 qod
%.18,000 ¥ft 233K 7| ¥ifty #t et & 1.5% & qen iftm
H TR T 2% B HUA T A AR A 3H FAH g 37
HifiEd & MU FNC ST T 1E W & Ifaid €.18,000 ¥fa
BRI A AT U & T orweft & gaR H T i et i v
AT 9l 2 |

¥) o fEm &7 & i oA aret TSR T &7 & @i% 5
2007, 2008 T 2009 B U H BEA H S Ta@R 2040,
3100 @em 2700 fheft/eaeer oft | Fuar wlw 2010 WE9 & 1w
TSR B O 1 BHA H1 Fardiar deEr @t ToEr S

H) T UE T & il gy & @) &t mor e yer @ st 82 '3
T) UA U IME U o fauia 19 gy deer 9 31 993 27 3

1. a) ForRabi2010-11 Season, for wheat Crop, value of threshold yield is 5
Rs.12,000 per hectare and value of 150% of actual yield is Rs.18,000
per hectare. Flat rate of premium is 1.5% and actuarial rate of premium is
2%. Please calculate premium payable by non-loanee farmer proposing
to insure his two hectare of Wheat Crop for sum insured of Rs.18,000
per hectare under NAIS.
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b) Actual yield of Paddy Crop was 2040, 3100 and 2700 kg/ha. respectively
for Kharif 2007, 2008 and 2009 respectively for notified area Rajnagar
which fall inlow risk area. Please calculate threshold yield for Rajnagar
for Paddy Crop for Kharif 2010 Season.

¢) How levels of indemnity are calculated under NAIS ?
d) Whatis meant by threshold yield under NAIS ?

& &t & g w0
What are main functions of NDDB ?

W SHT ST & JEeE | Sl R gered, TS 9O g9
a0 HrAfaae e S e S R 8 9= S

Discuss in detail the role of Financial Institutions, State Govt. Administration
and Implementing Agency involved in the operation of Crop Insurance Scheme.

5

12

12

12

12

fraH FY Trrme sftar & geof § fefafed & fEea S 1@ S 3 30@

3T) I H &
) IUFSia

) B a1 M
g) @ gfsear

Describe the following in respect of Kisan Agricultural Pumpset Insurance:
a) Scope of Cover

b) Exclusions

¢) Discounts and Excess

d) Claim Procedure.

3 each

TAF & 4 3T

) FaPe UIEH F T Ted fasreht yomelt 4 Tl # e 87
9) #weg g (Gftm) ot ) it foeft ffaw
W) Fape dtar F @ ik ¥ 87

a) How Drip Litter System for poultry is set up?
b)  Write short note on Acquaculture (Shrimp/Prawn) Insurance?
¢) Whatis the claim procedure in Poultry Insurance?

4 each
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. fafafas § 9 el ©: dftfaal & fasga &9 fafa TARH 2 3FF
) WUHHT

q) @HT

) SR AR

?) wdt e

) o SRS

Y wE

a) dfww

) @WHT

Expand the following with short description of any six terms. 2 each
a) SSCA

b) CCE

¢ RRB

d MPCI

e) IRDP

) PTD

g PML

h) NCA

) Tt i e A % st Rear % o Ao 99 €2 TE 650
¥) TN TS SEhEd % v B W ;)

a) What are duties of farmers under NAIS ? ' 6 each
b)  Specify the objectives of National Veterinary Council.

ma‘ozm
I Tt F WY IR 5 AERiiEd s W& § a1 e

D Y F A uyp fw & sieia GRE F 1

i) N vl i A vt & dieT @t e W A a1

iy TErer 1 ol @ fo ovR =@ @ ufd fha Ti¥ & W e
yfawm @ UR 7 Fh @ @ FI3 @ 27 7@ A

) et gy o st R SU% SR 96 % 100% § 3 & e 8

v A ok we-dim e @ e
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4 AG 71
v) He Fit it gl st 2@ & Ame W afagf stefd % 75%
a wfiftm 21

State 'true’ or 'false’ with due explanation. , 2each
1)  Theft of animal is covered in Cattle Insurance. '
i) Premiumrate in Agricultural Pumpset Insurance depends on Capacity of
Motor.
i) Franchise means no claim payable if the amount of claim does not exceed
a particular percentage fixed of sum insured.
v) Sum insured of a Cattle may exceed 100% of its market value.
v)  Re-insurance and Co-insurance are the same thing.
v) Incase of P T D claim of Camel indemnity is limited to 75% of Sum
insured.

RA § wEe AT F Wy o wrerd g 87 | 12
What are the problems associated with Crop Insurance in India? | 12
frfofad & @ foedt =R W wiRra Rwfnf fifgw) TAS H 3
D Y A A qeaieT qen s

i) gaet s

i) ST SAfRTTT geeAT wifersit

iv) HYwEE! dtar
V) ‘l"\’lﬁw

Write short notes on any four of the following :- 3 each
)  Valuation and Sum Insured in Cattle Insurance.

i)  Hut Insurance

i) Janta Personal Accident Policy

iv) Honey Bee Insurance

v) Identification of Animal.
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o ggmeRm e A
meTdtr

ASSOCIATESHIP EXAMINATION
MOTOR INSURANCE

w3 Ee ] [@et 3k : 100
Time: 3 Hours] ’ [Total Marks : 100
Tt 3113 YvAT & I AT | GUH Y9 & 16 ik & o a1 arframed =t 2 |
I M TR YUV 12 3 H F |

Answer EIGHT questions only. Question ONE carries 16 marks but’ this is not
compulsory. All other questions carry 12 marks each.

Marks
1. ot S gRT diet @ & arEl S BH H B I g A 3 ar16

fergpd T o1 & I8 W W

1. Explain the loss control measures adopted by insurance companies to reduce 16
- the Motor Own Damage Clalms

2. ﬁamaﬁﬁaﬁﬁ%mmﬁmﬁﬁw%mmw 12
N (31 ST 21 Ryl 1 $© HEare I F G WE H

2. InMotor Own Damage Section Principle of Indemnity is applied in slightly 12
different than normal manner. - Describe the principle with some working
examples.

3, ﬁwﬁmmmﬁﬁm‘fﬁﬁwﬁm (9 6 37)
i arsd
i) aR @ uReETer &
iil) A& T =ei
v) @1 AT

3.  Write in detail about any two of the following underwriting factors 6 each
)  TheVehicle
ii)  Areaof operation of Vehicle.
i) Thedriver of Vehicle
iv) The claims experience.
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37) W gder Ruid & v F4 27 (9 5 6 )
) WM W G TG & G F [ AT AT HiAY 87

a) What is the contents of Motor Survey Report? 6 each
b) What are the documents required for processing Motor Own Damage
Claims?

WA # T 0 AEs At AT TR el YR WA B 1 g 12
Te “ATSIR Qe SR 87 el o o T SAfedl i we B | Gl % Wbl
% o eTavas w2l & qui i)

Third Party Commercial Vehicle Insurance in India is handled on "Market Pool" 12
basis. What is Third Party Market Pool? How does it operate? Discuss the
advantages and disadvantages of a pool? Describe the factors which are
necessary for the success of the pool.

Hfera § fewfvrt faflgw @ (I & 4 3F)
) @S T f S S s
i) AT & forw s fhar aea
ii) SETERSE & YRR H o”T H UG

Write short notes on :- 4 each
) Useof CNG/LP G Fuel

)  Vehicles used for Driving Tuition

i) Use of Vehicles with in Insured's Premises.:

HieX ot weT & @ 9l A G | fafaw 12
Write in brief about claim procedure for motor Third Party Claims. 12

AT MR 37aless SRay uiferdt 3 ST q97 7yast-i ) i o 12'
fafEaw|

Write in brief about coverage and exclusions under Motor Trade Internal Risks 12
Policy.



10.

10.

) Waﬁm%mmmm%ﬁmaﬁqﬁﬁ?

)

a)

b)

3 AG -72
(TEF & 6 3F)

Tfta v T@ ) iferdt & Sfafa daar ST Fa )

What are the rules for transfer of policy in the event of death of the sole 6 each
insured?
Limits of Liability under the policy for Third Party Claims.

g 163 (V) & i G- 1 N fHU g6 & e & 9

I S|

TuE 163 (dft) T JEEH F@T 2?7 3

Explain the provisions as to Payment of Compensation on Structural 9

Formula under Section 163 (A).

What does Section 163 (B) provides? 3
----- THTE -=---
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ST geledT, siturt ud farferer sftwr
ASSOCIATESHIP EXAMINATION |
PERSONAL ACCIDENT, SICKNESS & MISCELLANEOUS

INSURANCE
g 3 ue | [t 3 : 100
Time: 3 Hours] ; [Total Marks : 100
ﬁaﬁmwﬁa\;waﬂﬁmluwmé‘mm%ﬁr@waﬁaﬁqﬁ%n
AT AN TAR VT 12 3R HE |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. 31 T g9 g St 1 Yere fusid St qee ftw H en 12
i 81 39 W forega & ==t i)

9) =¥ gt fw ¥ wRais 199 S F1 avit ST 4

1. a) Discuss thoroughly the application of the fundamental principles of 12
insurance like utmost good faith etc. in Personal Accident Insurance.

b) Describe family Package cover, in P. A. Insurance. 4

2. 3) FAEEIAS IRE A G M T aeg dyard qur qeaua i & 3
- SFaia YR STENT S|
9) Fewrd &t & sfwla Fefafas yekoCdRma § fafgg) (5786 % 3 ()
) et ifert :
i) HeAifHd uiferdt
i) ¥ B uiferdt

2. a) Specify the Scope of Cover under Standard Burglary and House breaking 3
insurance policy issued to Business premises.
b)  Write briefly on following types of policies issued in Burglary Insurance: =~ 3 each
i)  Declaration Policy
ii)  Valued Policy
i)  Firstloss Policy
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~ (TS & 6 3(h)
37) Afaew et & fafren = & yfAyfd 57 s & sfarfa gt
g I8 e Sl
¥) Afgaam uiferdt § farpa AR & Geherd #t Tgyul I T

a) Elaborate the heads under which medical expenses incurred are reimbursed 6 each
in Madiclaim policy. _

b) Narrate the important Conditions laid down in Mediclaim Policy for
compliance of the Insured person. '

doef ot el ot & fafte @vel & siqila Suory el Wee 12
HTI

Describe the cover available under the various Sections of the Bankers' Blanket 12
Indemnity Insurance.
frefefiad § @ feelt ot W 9iere it fafew (I o 4 37)

) wagg

i) ufeFaw Sfiw § TE/ATH
i) IS A HFIH

iv) a9y svefimesar fimm

v) TRes qHe

Write short notes on any three of the following : 4 each
)  Sports Insurance

i)  Bonus-malus concept in Madiclaim Insurance

i)  Flight insurance coupens.

iv)  Special Contingency Insurance

v)  Facultative Reinsurance.

forearaar gfasfa st & seaneiss (AReror Fit gwret fF30r goreftan 12
et 87

What are the effective systems of check and methods of supervision over the 12
employees in Fidelity Guarantee Insurance - Discuss.



10.

10.

9)

a)

b)

a)

b)

3 AG -73
(IAF & 6 37F)

o T § Sfaw o i 3 S g S TEeRi A
far st 27
I i & ruEsi fafaw)

In respect of Money Insurance, which aspects are considered by the 6 gach

insurer at the time of underwriting a risk?
Write out the exclusions which applies to the above type of Insurance.

el Afgea uiferdt & fafhear a9 a1 yearedd & faiia
FR ET 22

- SfiawHlS Afeaan uiferdt & T Y0 § yES H @ S

T¥l Sl FAIC G997 TEEE R St T SO S|

What is considered as Covered expenses in Medical and Repatriation
Section of Overseas Madiclaim Insurance Policy?

Mention the questions which are generally asked to a Proposer in
Overseas Madiclaim Insurance Policy proposal form and also state what
type of declaration is made by the Proposer.

I8 WHTE: Fel T 8 5 weRew oiferdt 39 W @ 7 5
FUF F AfF TAGUT T Yoo sTaRa uiferdt & dad &
W K|

yeifhe uiferdt @ 87

It is stated generally that an 'All Risks' policy is not literally so. Examine
the above statement with reference to policy issued to cover Personal
Jewellary and Valuables.

What is valued policy?

e o e i uiferdt & sfafa sraeull &1 aufa Fifm)

Describe the coverages provided under Directors and Officers Liability Policy.

12

12
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egar T

ASSOCIATESHIP EXAMINATION

LIABILITY INSURANCE
WhE : 3 6 | [&eT 3 : 100
Time: 3 Hours] [Total Marks : 100
TRl 21 YvAt & S AR | g yv % 16 3iw & feg 9 arfraTd Tl €
- el TRm YT 2w e E

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. g TTRER! & FAER TSI W ereie-ds Rwft faray |- 16
1. Write acritical note on legal background for professional negligence. 16
2. fiERE A 9 12
3) st sd=Ral & et
F) SFER T 3T FATRA 3 A7
2. How does the insured's liability cause for 12
a) negligence of own employees
b) negligence of Contractor and his employees?
3. F% R | 399 T & Ry g g : 12
3) B (STRTE)
q) T (USTT)
3. What are the specific questions in liability proposal for 12
a) Hotels
b) Schools
(IS & 6 37)

4. 3) eSS @ A gy 1991 % siwfd ywe g9 1 w6
¥) e TRE uiferst & avia Fw
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a) Drafta proposal form for insurance under Public liability Insurance Act,
1991. :
b) Describe "Products Guarantee Policy"

A SRGT & Frasie 21 SRad [T & e’ 9% Fdie |

Enumerate the items of information in a Risk Assessment of Public Liability for
industrial risks.

Ry qo iU o wifereht 3 afafa swervl @1 fwqa § avi H |

Describe in detail the coverage provided under Directors' and officers' Liability
Policy.

) ‘g Raw @ et st s i & e W )
) ﬁ#aﬁﬁm@m@wﬁw{ﬁmﬁrwaﬁw

a) Explainhow "Stop Loss" or "Excess of Loss Ratio" treaty operates.
b) Describe, North American Jurisdiction Extension Clause.

g daa, e SiRas & siaid sTAare ST9asil $ 3o’
SHIfSTC | '

Mention the exclusions under Industrial Risk Public Liability Policy.

AT T FAT H (A TN 3R, Th AT WL W
3) WS 3gar (e Sifem) uiferdt aur
¥) Ig Far uiferdt

Compare and contrast Claims Series Clause under :
a) Public Liability (Industrial Risk) Policy and
b) Products liability Policy.

6 each

12

12

12

12

12

12

12

12



3
10. Ter=dft dftr W e fewfdma forfe -
37) JWgFAR T Formears (1945)

§) Jar i Ht AeEl e

F) 3 S ARER
T) WS 3gar stfufaam 1991 & st “afers”

10. Write short notes on any three :
a) Devendrakumar v/s Mirmalabai (1945)
b) Special features of Liability Insurance
¢) ResIpsaLloquitor
d) "Owner" under Public liability, Act, 1991.

AG -74
(T & 4 37F)

4 each
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SeroBER 00 T T wite
ENiIE IR ) |

ASSOCIATESHIP EXAMINATION
ENGINEERING INSURANCE

|G ; 3 HeE ] [&et 3 : 100
Time:3Hours] [Total Marks : 100
TRl o1Te Tv o S ST | IO U & 16 3ieh R Ig otframd Tl R
I WM TRAF YT 12 3 H R |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

- Marks
1. Frefafed & 99 § gue &0 8 a9 arelt Rt ®@ sey
HIAW:
F) fafe yor it gSfaartn o aifafreal 4
@) famfor swor e wifetar 6
M) RIS a)uT ST ST | 6
1.  Specify the features that are common : 4
a) Indifferent types of Engineering Insurance Policies. 6
b) InConstruction Phase Insurance Policies.
¢) InOperational Phase Insurance Policies. 6
(5 % 6 3®)
2. F) weiadt Sdera dtw & dedl § o ey fiuies vl W S
HIC.
@) et dtr e S gfe | gfhar S STEaITSE a4l
TR T 87

2. a) Mention the special underwriting considerations in Machinery breakdown 6 each
insurance. ‘
b) Why are process plants considered unsatisfactory risks for Machinery
insurance?
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ﬁzwwqawﬁqﬁaﬁmm%mﬁaaﬁmﬁmmaﬁaﬁ 12

et i)
List out the principal exclusions of a Contractor's Plantand Machinery Insurance 12
Policy.
(I8 & 6 3(%)
%) ArAeR TS @ G Wiferd 37 YT TG W A FA-T TR
& 7 gt 27
@) I-fuftor R R W R S 87
a)  What information is elicited by the proposal for Boiler and Pressure Plant 6 each
Policy?
b)  What is the basis of rating ?
&) oW & AW B &fiur @ avla SR 8
@) dimegpa T @ i 8 R S 87 4
a)  Describe Advance Loss of Profits Insurance? ; 8
b) How is Sum Insured fixed? 4
. N (IF & 6 37%)
%) i fagpfa () i & siaria wia deror aefd & Yafa awsea

a)

b)

aﬁaﬁwwﬁaﬁmnﬁmaﬁwﬁmm%ﬁtwaﬁq
ot srifaear ST weh?
IR Wiferet & e gl =1 frafeor 39 R s 82

Identify the steps which a Surveyor could take for the purpose of claim 6 each
control under D O S (Potatoes) insurance on receipt of immediate
intimation of a breakdown claim, on cold storage machinery.

What is the basis of indemnification under the above policy?

TF-Tg-3eur viferet A T foiwaet & Seor FRE s amRT 5 12
d a3 e fhg W anEEE §7
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7. What are the main features of Marine-cum-erection Policy and how are they 12
advantageous to the Insured.
. (FAF 3 6 i)
8. F) YA F TRl B gAY Fiawwor gaeft fofa A= § drpal B
JAIIT HA AT BRI HT 3T BT
) T @ A eud Sl % Hewd W =l hitorg|
8. a) Specify the factors which influence the insurer in deciding the retention, 6 each
while arranging reinsurance.
b) Discuss importance of facultative method of re-insurance.
9. frmit wel W g 1 s faivaredt &1 Seai@ HfT) 12
9. Mention the Fire Control Features at Construction Sites. 12
10. gAife SuHwur dtar vifert & aR # fawRgEs el fafEw) 12
10. Write acomprehensive note on Electronic Equipment Insurance Policy. 12
----- HHTGT «=ne-
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ASSOCIATESHIP EXAMINATION
MISCELLANEOUS INSURANCE

g 3 6e ] [T 3ie6 : 100
Time: 3 Hours] [Total Marks : 100
Tl 21me gyl & Seat T | 99T U9 & 16 3t € ToReg o otfeamd =t ] 1
AT A URHUIT 12 3w B |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. 37) Uw feaa geear sftar uifeadt %.2,00,000 sftar aftr & sfara 10 -
fATaRE F ITTE TR qAq (A sTwwareian Qraqfa/am
Feh! Ui T a9 IHh siefa qua stfaRea ard gid HU
d) YR SAfRI gHeAT uiferd & fawiwarstl ®i e I 6

1. a) Describe the various contingencies in which compensation/benefit is 10
available to the insured and the amount thereof under a Personal Accident
Insurance Policy issued to an individual, assuming the sum insured to be
Rs.2,00,000. Also, indicate the free additional benefits thereunder.

b) Specify the salient features of a group personal accident policy. 6
2. ) uq fiwr uiferdt & @ve | AR GUS 11 F Al SHTeReE ® ST 8
3T T IeAE BT
¥) SR fur § H8 R suae 82 4
2. a) Indicate the cover provided to the Insured under Section I and II of the 8
Money Insurance Policy.
b) Which extentions are available under the above insurance? 4
3. e e Ry dtwr & dedf & fefefan v B W S
) A &t afy

) iR dtwr af¥
&) oftar Ui 1 O 2
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T) qEyurEt sy ‘ 3
3) o 3

Explain the following terms which are relevant to the Bankers' Blanket Indemnity
Insurance.

a) Basic Sum Insured 2
b) Additional Sum Insured 2
¢) Reinstatement of Sum Insured 2
d) Retroactive period 3
e) Excess 3

(W% & 6 ()

3) SN Afsse wiferdt & fafte @ust & afiq Suci= 3o
=t wera ® ==t Sk

) oNawEfie Afsaay uiferdt & oiatla fe uRRedal & ad & 78w
T e Sw?

a) Discuss briefly various sections of cover available under Overseas 6 each
Madiclaim Insurance Policy.

b) Under which circumstances, Claim will not be entertained under Overseas
Madiclaim Insurance Policy?

aﬁmmmﬁmﬁm%m%@mﬁmﬁw%ﬁﬁww 12
IS o1 3T Rapfa & wad & fARewr faie & wgeqstist ==
HIFTT |

If the risk for Burglary Insurance is very large/complex, inspection is being 12
arranged by the insurance company, for considering acceptance. Which aspects
would such an inspection report, deal with?

T T & Siafa et o st afdn, e, g eTvestE, By 12
Ml @ aaw)

Detail aspects like Valuation and sum insured, Coverage, Common exclusions, 12
Special conditions under Cattle Insurance. :




10.

3 AG -78

mﬁ@wﬁ?mﬂmﬁwﬁmml (9 4 3i%)
) T IWES b gay H gl

)
%)
S

?)

Gergpa st
EEC DIC TGt
fufreae (siaed) daw dfim

Tfess® e

Write short notes on any three of the following : ‘ 4 each

a)
b)
c)
d)
€)

Missing Documents Indemnity.
Sports Insurance

Pedal Cycle Insurance
Doctor's Package Insurance
Facultative Reinsurance.

a)ﬁ%ﬁnwm%whmﬁﬁgﬁa@aﬁﬁm , 6

9)
@)

a)
b)

c)

WWWWW%WMWW@WI 4
mmﬁmiwwmmmwmmé?

(9]

[o)}

List out the exclusions under Mediclaim Pollcy
Specify the Special Conditions applicable to Maternity Expenses Benefit 4
Extension Cover.

Can we allow cumulative bonus to the policy holder after a Claim? -2

wehe (SNIR) # Iversy favawaar gy fwr & yaia == i 12

Explain the types of Fidelity Guarantee Insurance available in the Market. 12

(IAF & 4 3F)

37) =R gelear diferdt & ofavia g <@ & ftwn i %.2,00,000

)

e TRl S .20,000 8| gEfeAT & HRUT A FH B G BN
gl e g% | Rapa ad @ 37 Ul 4 gft?

wh Gewrd wiferh st Wl €.40,00,000 F forw st #t wE B
39 Sfifa €.30,000 1 IaT g31 8 | e Raie g Rag
g A Sifaw W onft gl 1 ged €.30,00,000 §1 @ i
foa-t T 37 gft?



10. a)

b)

©)

. 30,000 #t g% 21 78 ®. 50,000 stay TR W <ffF faar T |
Ta &1 fvem e man s uiteh o § o Jmue 5 s i
AR 3 SHroT e B &, 40,000 F & gE 21 59 wRRed &
viferdt & afela fat Tl 37 &ht?

AClaim is lodged under a Personal Accident Policy having a Sum Insured
of Rs.2,00,000 and cumulative bonus of Rs.20,000. It pertains to loss
of hearing of both ears due to an accident. The claim is found to be
admissible. What would be the amount payable?

ABurglary policy is issued for a Sum Insured of Rs.40,00,000. A Claim
occurs thereunder of Rs.30,000. The surveyor's report states that the

claim is admissible and the value of property at risk was totally
Rs.30,00,000. What would be the amount of Claim payable?

A Cashier covered under a collective Fidelity Guarantee policy, commits
a fraud of Rs.30,000/-. He was insured for Rs.50,000 Sum Insured.
The Claim was duly settled. During the same Policy Year the said cashier
commit another dishonest act and loss to employer of Rs.40,000. What
would be the amount payable under the policy in this case?

o 4 AG -78
%) wnfee frveaar wfaefa uiferdt & simia smafta Gaure sru arares

4 each



e ittt AGT
YT qAT FSAITT ST

ASSOCIATESHIP EXAMINATION
LIABILITY AND ENGINEERING INSURANCE

w3 Ee ) [ 3fa : 100

Time: 3 Hours] [Total Marks : 100

MWW%WWWWW%MM%WWWW%:
AT AWM TRAFUTT 12 AFHH &

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks

(TAF & 8 ()
1. $) siteifieor & 59 & A et st @ Aefied @ @ SR & SR

gl AR =EyF il | s9m & g F9ifea ftar emeron
= gra i)

F) o @ AT I et % sev w4 87 TEe fawwanet &t
AT T |

1. a) IntheEraof Industrialisation suggest suitable cover to industry to protect 8 each
from losses due to Business interuption in the event of failure of machineries. "
b) What is the object of the A. L. O. P. Policy? Explain its salient features.

2. ﬁmﬁﬁwm%aﬁﬁmmm@ (V% % 4 )
&) fowRa en gun g
T) HEAHS A9EH
) SR:yamEl yRegd =g faeanor
¥) fowe &t : :

2. Wirite short notes on any three of the following : 4 each
a) Extended claim reporting Clause
b) Structured Settlement
¢) Carriage of Effluent extension
d) Lift Insurance.



v 2 AG -79
IeR TS T G5 fiwr & e ¥ - 3
F) T SR H IeAE BT
T) fefafe = e AR (59 3 3 3)

)  FgeR
i) <& 99T
i) THREAS fowmie
Inrelation to Boiler and Pressure Plant Insurance 3
a) Mention the basic cover.
b)  Give definitions of following terms : 3 each
i)  Boiler
i) Pressure Plant
i) Chemical Explosion.
%) § TR uiferdlt & ged # feffed vl it e #ig 6
) it eEfy
i) e
T) ¥ U AR wiferht & 3fwid o= aret oTuastl &1 aui Fw) 6
a) Explain the Following terms in respect of EAR Policy : 6
)  Period of Insurance .
i) Excess
b) Describe the exclusions under EAR Policy. 6
F) el 3 TR SR iferdt & 1T yge werd o & 7 oW 8
e A faeron &1 Seer@ S
@)WW%WMW@WW%@WW 4
FH R =R a1 ST 2, 37 Se0@ H
a)  Outline various details sought in the Proposal form of Public Liability Policy 8
for Hotel.
b)  Specify the factors considered for rating Hotel under Publjc Liability Policy. 4
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frmfefan @ @ feedt ot & aR o wfire fowfmf fafae . (3% & 4 3()

%)
Q)
m
q)

fosit 3usE

IR & &1 fAam
ARETE 7 W T
faiy exfergferal

Write short notes on any three of the following : 4 each

a)
b)

c)
d)

)

q)

b)

%)

)

b)

Private Nuisance

The Law of Strict Liability
Common defences to negligence
Special Damages. ‘

(I & 6 37)
WWW%WWM@EWW
%1 quiT ST
“ATETEl” Tes @ R 37 g 39 g A aeh evas
uRftafaat &1 3ea@ Fu)

Explain the Operative Clause and exclusions under Compulsory Public 6 each
Liability Policy.

Define the term "Neghgence and the Circumstances necessary to establish

the same.

(TS & 6 3(F)
FAC {6 3 I T T9asi & St S 791 3R e Uit
& 3qild 999 &9 § 13 9 2
ST A Wi & Sfmia o aret “Sae’’ IR S ke
AR s 7% T8 3 e dftmr 9 6 o7l 9 R 87

Name the exclusions common to both Public and Product Liability 6 each
Insurance Policies.

Define "Product” under Public Liability Insurance Policies. How is it

different in Products Liability Insurance.



10.

10.

%)

@)

a)

b)

%)

q)

a)
b)

L AG -79
(T & 6 37h)
4 ¢ W TR uiferet & oferta siflaw fAwfwr g R wrEfes Fret
TR faan ST 8, 3% qees S
9RA ¥ gShfraRe e /g sait R R et srfsa i
ST S &, ITH Wi Fui i)

List out the relevant factors to be considered for assessment of therisk 6 each
foraCE CR policy

Briefly describe the reinsurance programme for Engineering business in

India, generally followed.

sttt e <ifereh 3 sy o ST AT 7 o
S 8, 3" FUiA FAT)

fomioT Torell W ST Uhg™ 8 AU I aTelt dga W@-TEe

JUTelt & @ AUl qE] 1 AW HIC

Explain the basis of loss settlement under Machinery Insurance Policy. 6 each
Mention major points of importance of good house keeping in prevention
of fires on construction sites.
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